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The following table shows the number of players who participated in three sports events E1, E2
and E3 along with the ratio of Male (M) to Female (F) participants among them from six different
countries, namely, India, US, China, Russia, England and Germany.

Based on the data in the table, answer the questions that follow :

Country-wise Details of Participation in Sports Events

Players who Participated in Sports Events
Country El E2 E3

Number | M:F | Number | M:F |Number | M:F
India 480 241 500 17:8 700 9:2
Us 1280 5:3 | 1440 715 1500 5|
China 1100 7:4 | 1160 [13:7 | 1240 31

Russia 1300 8:5 1320 734 1500 8:7
England | 800 Bl 840 99 900 5:4
Germany | 630 | 16:9 728 3.1 750 241

Sub questions

Question Number : 1 Question Id : 53307211579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the total number of female participants in sports events El and E3 together ?
(1) 4274
(2) 4308
(3) 4326
(4) 4334

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 53307211580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the ratio of the number of female participants from US in the event E2 to the number of
female participants from China in the event E3 ?

(1) 60:31

2) 29:31
@) 27:31
(4) 58:31
Options :
1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307211581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of male participants and the number of female
participants in the event E2 from all the six countries together ?

(1) 1724

(2) 1728
(3) 1732
(4) 1734
Options :
1.1

2.2

3.3

4.4

Question Number : 4 Question Id : 53307211582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of female participants from India in event E1 is % less than the number
of female participants from Germany in event E3.

(1) 40
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Options :
1.1
2.2



3.3
4.4

Question Number : 5 Question Id : 53307211583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of participants from China in event E2 is % more than the number of
female participants from US in event E3.

(1) 120
(2) 124
(3) 128
(4) 132
Options :
1.1
2.2
3.3
4.4

Question Id : 53307211578 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

feet enferen © 9 foforet <0 e, i, 1, 69, 3o SR S o o Yol £l 29
3 T 71 ot figenfeat 21 s v 37 39 2 g (M) ot wfeen (F) faenfed @1 swm <ot
&1 e ¥ YeH <21 % SNHR T, 37 T8 U9 % T <o

et ViqErTana § Wi T eyT-an faaro
get Tfeafreent & 9 o el flaend
] F1 ) B3
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480 | 2:1 | 500 [17:8| 700 | 5:2
180 | 5:3 | 1440 | 7:5 | 1500 | 2:1
100 | 7:4 | 1160 | 13:7 | 1240 | 3:1
1300 | 8:5 | 1320 | 7:4 | 1500 | 8:7
800 | 3:1 | 840 | 9:5 | %00 | 5:4
650 |16:9| 728 | 3:1 | 750 | 2:1
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Sub questions

Question Number : 1 Question Id : 53307211579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el Yaaifiarel E1 9 E3 ¥ fetert Afeen gfa il =61 ol ge oo & 2
(1) 4274

(2) 4308
(3) 4326
(4) 433
Options :
1.1

2.2

3.3
4.4

Question Number : 2 Question Id : 53307211580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i E2 W S7eien  wfeen Sfawimal @ S @ Wit B3 H 9 4 wfeen s # gen 8
S fo 27

() 60:31

(2 2931

@] 27:3

(4) 58:31
Options :
1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307211581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



v 7 <9 o FrereRt-iTen B2 o < et e wfonfird & wfeen yfowfed @1 wen & e @
R foel 27

(1) 1724

(2) 1728
(3) 1732
(4) 1734
Options :
1.1

2.2

3.3

4.4

Question Number : 4 Question Id : 53307211582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

st BLH 9 B wfeen Vsl & gen, e 5 6 9 8 e vt @ wen 8
% %W g

(1) 40

(2) 36

3 28

(4] 79

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 53307211583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

it 2 = 1 Yot it wen v 3 § s 3 ofeen vfaf ¢ gen g %
oy 2
(1) 120
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Options :



1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 533072456
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 53307211584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are not the examples of Positive - Transfer of Learning ?
(A) Learning of Piano makes it more difficult to learn the violin

(B) Mastering Algebra helps in understanding Calculus

(C) Knowing how to drive a car makes it harder to learn how to ride a bicycle
(D) Learning to speak French hinders learning Spanish

Choose the correct answer from the options given below :

(I) (B) and (D) Only

(2) (A), (C) and (D) Only

(3) (B), (C) and (D) Only

(4) (A)and (C) Only

Options:

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 53307211584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) aa (B) T (D)

(2) ¥ (A), (C) W (D)

(3) e (B), (C) W (D)

(4) 9 (A) T (Q)

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 53307211585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A web-based e-learning application allowing users to select a video and customize it by editing,
cropping, recording their own audio and adding quiz questions directly to the video stream is
known as:

(I) ED puzzle
(2) Mindmeister
(3) Miro

(4) Labster

Options:
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307211585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 53307211586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The process mostly completed within several hours, but which can last for years, which fixes
information in long-term memory is known as :

(I) Repression

(2) Episodic memory

(3) Consolidation

(

4)  Retroactive interference

Options:
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307211586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

Question Number : 9 Question Id : 53307211587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In an online course, a teacher wants to organize weekly readings, quizzes and discussion forums
for students. Which of the following platforms would be most suitable for managing these activities ?
(A) Schoology

(B) Blackboard learn

(C) Zoom

(D) Canvas

(E) Moodle

Choose the correct answer from the options given below :
(I) (C), (D) and (E) Only

(2) (A), (B) and (C) Only

(3) (A), (B), (D) and (E) Only

4 (0 and D) Only

Options:

1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 53307211587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) % (C), (D) R (E)

(2) ¥ (A), (B) 4T (O

() A (A), (B), (D) R (E)

(@) e (C) 4 (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 10 Question Id : 53307211588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - II
(Swayamprabha Channel No.) (Theme)
(A) Channel 8 (I)  Applied Sciences
(B) Channel 9 (I)  Social Sciences and Humanities
(C) Channel 10 (I) Life Science
(D) Channel 11 (IV) Physical and Earth Sciences

Choose the correct answer from the options given below :
(A)-(H), B)(ID), (©)-(IV), (D)-(0)

1), (BI-(I), (C)-(IL), (D)-IV)

(i), (B)-(Iv), (CH1D), (D)-(1)

(IV), (B

(A
(A
(AHIV), (B)-(IH), (C-I), (D)

!
A)

Options :



1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307211588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

get-1 9 g-11 =1 e e

geii-1 gt-11

(FEEUNT O WS ) (fama)
(A) =78 () S e
(B) =9 (I amifes faam oiv amfae
(C) = 10 (IIT)  Sfrer faam
(D) =" 11 (1Iv) ifaer foge @R gest foqm
e feu U fospedi ® 9 |/E TR F1 999 ST ;

(1) (A)-(I), (B)-(ID), (C)-(V), (D)-0)
(2) (A0, (B)-(I), (O-(I), (D)-(IV)
(3)  (A)-(Im), (B)-(IV), (O)-(II), (D)-(I)
@) (A1), (B)AIL), (O)-(D), (D)-(I)

Options:
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 53307211589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC Regulations 2018 on Plagiarism, Which of the following percentages of similarity

in a research article would result in denial of one annual increment to a university teacher ?
(1) 62%

2 2

(3) 48%
(4) 18%
Options :
1.1



2.2
3.3
4.4

Question Number : 11 Question Id : 53307211589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Wifefcaeh =N o W ¥ fovaferer s A (7emet) fafem 2018 % AR for orpeum o §
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() 62%

(2) 34%
(3) 48%
(4) 18%
Options :
1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307211590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following types of sampling is likely to have maximum bias ?
(I) Simple random sampling

(2)

(3) Snowball sampling
(4)

Options :

1.1

2.2

3.3
4.4

Stratified random sampling

Cluster random sampling

Question Number : 12 Question Id : 53307211590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fretferfea # 4 fog YR & wiowa ¥ sfesran qaie 89 1 Here 2 8?2
(1) | T gfa=
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(4) HE Tl gfT=aA
Options :

1.1

2.2

3.3

4.4

Question Number : 13 Question Id : 53307211591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the threats to interal validity associated with participants in a study.
(A) Testing threat

(B) Selection threat

(C) History threat

(D) Attrition threat

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (), (C) and (D) Only
() (A), (B) and (D) Only
(4) (A), (C) and (D) Only
Options:

1.1

2.2

3.3

4.4

Question Number : 13 Question Id : 53307211591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) THE HeEl T
(B) =& HaH T

(C) sfierd HaiHl wR
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(1) @ (A), (B) 3R (C)
2) %= (B), (C) 3 (D)
(3) Ed (A), (B) 3R (D)
(4) A (A), (C) ¥R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 14 Question Id : 53307211592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Arrange the data sets with following means (x) and standard deviations (o) in increasing order of

their coefficients of variation :
(A) 0=37, y =2
B) =43 1 =12
(C) =52 ¥ =35

(D) o=61, y = 40

Choose the correct answer from the options given below :
() (A), ), (C) (D)

@ (), (C) O) (A

@) (© (D) ®) (4)

() (D) (©) @A) ©)

Options :

1.1

2.2

3.3



4.4

Question Number : 14 Question Id : 53307211592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i o (5) o T o (o) S s o s T 7 o

(D) o=6.1, y =40

A feu T foreredt © @ W@ S A T F0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 15 Question Id : 53307211593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - 11
(Variable) (Description)
(A) Dichotomous variable ~ (I) s causally influenced by another variable
(B) Independent variable () Where distances between categories are identical across
its range of categories
(C)  Dependent variable (Il) Has just two categories
(D) Interval variable (IV) Has a causal impact on another variable

Choose the correct answer from the options given below :
(1) (A}(D), (B)-(T), (CHI), D)-(IV)
2) (A, (BHI), (CHIV), (D)
3) (A)), (B}IV), (CH), (DH(I)
4) (AHD, (B}, (CHIV), (DHI)

Options :
1.1
2.2
3.3
4.4

A

@ (@A
G |
4 (@A

Question Number : 15 Question Id : 53307211593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teft-1 ¥ Feit-11 1 el i .
Tlt-1 TElt-11
(W) (ferarur )
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(1) (AHD), B)-(L), (©)-1), (D)-(IV)

(2) (A, (B)(I), (CHIV), (DHI)
(3) (A, (BIV), (O-(D), (D)-()
(@) (A0, B)HL), (CHIV), (D)-(I)

Options :



1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307211594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The interactive technologies are responsible for the appearance of :
(I) Traditional media age

(2) Broadcast media age

(3) Market media age

(4)

Second media age

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307211594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I -fRaTerss drenfierai g smma & foe SeRert £2
(1) 9RwfeR Hifear g

(2) wER Hifga gm

(3) Taafor (wrke) wifgz gm
(4) T wHifsan gu
Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307211595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The interactive society is based on integration of :
(I) Multiple communication modes

(2) Dual communication restrictions

(3) Single purpose audience

(4) Varied face-to-face options

Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307211595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T TFHaTeHs THS fohEeh QiR T SMMeid © ?
(1) =gfaY FeIw 7y

(2) 59 TEwY G ufqey
(3) TH YA a1l AR
(4) Tafay qE=Ta fawe
Options:

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 53307211596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The post-modern mass media have the characteristics of :
(A) Immobility

(B) Mobility

(C) Globalisation

(D) Simulation

(E) Linearity

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only

(2) (B), (C), (D) Only
(3) (), (D), (E) Only
(4)  (A), (C), (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 53307211596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR T Hifea 1w fosmar € 2
(A)  aTTfasierd

(B) TIfaefieral

(C) AT

(D) ST

(E) figeka

= feu TTu fomredl § € Wl AT o1 = HieT
(1) 9 (A), (B), (O)

(2) 9 (B), (C), (D)
(3) de (C), (D), (E)
(4) A (A), (O), (B)
Options :

1.1

2.2

3.3



4.4

Question Number : 19 Question Id : 53307211597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the chronological sequence of the following communication devices :

(A) Audio cassettes

(B) Long playing record

(C) Magnetic tape

(D) Compact discs

(E) MP3

Choose the correct answer from the options given below :
(1) (A), (®), ©), [E), D)
(2) (B), (D) (E), (A), (C)
@3) (€, (B) (A), (D), (E)
(4) (D) (E) (B), (©) (A)
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307211597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ey o fAAfAfEd S0l & HIchiHeh 3TsHH F YgaM iU ;
(A) o FEH

(B) T HHY Tk I S el fEhis

(C) #HHfesw 2g

(D) FHR few=d

(E) THY.3

A4 feu e forkedi # @ @& IO 6 =2 HIf ;

(1) (A), (B), (©), (E), (D)

(2)  (B), (D), (B), (A), (O)
3)  (©), (B) (A), (D), (E)
4) (D) (E) (B), (O) (A)



Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 53307211598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - 1.

List - 1 List - 11
(Concept of profit) (Description)
(A) Synergy () Strong incentive to replicate a successful format
(B) Planned obsolescence (I) Media obsession with sensationalism
(C)  Logic of safety (Il) Horizontal integration of subsidiary media companies
(D) Spectacle (IV) Planned Phasing out of product

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(1), (C)-(I), (D)-(IV)

(2)  (AHI), @), ©)-1v), (D)-0)
(3)  (A)-{II), (B)-(IV), (CH), (D))
(4)  (AHIV), (BHI), (C1(I), (D}II)
Options :

1.1

2.2

3.3

4.4

Question Number : 20 Question Id : 53307211598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Teft-1 ¥ Ga-11 2 el e .

Tl Tt-11
(Y T FFETT ) (9ui)
(A) wefsman () 9% S H Hfofd & foae afsmed o
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(1) (A, (B-I), (CHIL), (D)-{LV)
(2) (A, B, (C)-1V), (D)-0)
(3) (A}, (BHIV), (CHD), D}I)
(4)  (AHIV), (B)-(1), (C)-(1), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307211599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1

(Expression) (Value)
(A) 0.5x0.05x0.005x50 (I) 154.15125
(B) 5.55%x55.5%x55 (II) 16941.375
(C) 5.05%x5.55x5.5 (LIT) 1678.875
(D) 55xX55%555 (IV) 0.00625

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IIL), (C)-(D), (D)-(1I)
(2)  (A)-(1), (B)-(IL), (C)-(1V), (D)-(I)
(3)  (A)-(IV), (B)-(1D), (C)-(I), (D)~(1LI)
(4)  (A)-(IV), (B)-(III), (C)~(1D), (D)-(I)

Options :
1.1



2.2
3.3
4.4

Question Number : 21 Question Id : 53307211599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qat-1 9 gait-11 =1 e =i
eI -1
(=T ) (W)
(A) 05%0.05x0.005x50 (I) 154.15125
(B) 5.55x%55.5%55 () 16941.375
() 5.05%5.55%55 (L) 1678.875
(D} B5XB5EXE55 (IV) 0.00625

= feu v fawedi § 9 WaE SO ol 999 Fifau :
(1)  (A)-(IV), (B)~(IL), (C)(1), (D)~(II)
(2) (A1), (B)-(LID), (O)-(IV), (D)-(I)
(3)  (A)-(IV), (B)~(1T), (O)-(I), (D)~(11)
(4)  (A)-(IV), (B)~(I), (O)~(1T), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 53307211600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the number that can be inserted at the place of question mark (?) in the series given below :

g0 250l
346
(1 3
5 3
QA 3
(3) 2
59



Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 53307211600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7l o 1T 0 H T A WM (7) T G S G a9 Ge 1 9

(E89 .0
2 3 4 6
() 3
o o
12
(3) 2
29
4 75
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307211601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true ?
(A) A single discount, equivalent to a series of discounts of 20%, 10% and 5%, is 35%.

(B) If after two successive discounts of 12% and 5%, an article was sold for ¥ 209, then the
otiginal price of the article is T 0.

(C) Ifa shopkeeper allows two successive discounts of 5% each on the marked price of ¥ 80, the
selling price of the article is ¥ 75.

(D) If the difference between a single discount of 35% and two successive discounts of 20% on a
certain bill is ¥ 22, then the total amount of the bill is T 2200.

Choose the correct answer from the options given below :
(I) (A), (B) and (C) Only

(2)  (A)and (C) Only
(3) (B) and (D) Only
(4) (C) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 53307211601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R R Rk i

(A) 20%10% T8 5% 1 A G2 o FAGed Tl 92 35% &

(B) 7 12% T 5% % 3 i 3  oIC T o A T 209/- ¥ o7 ™, T A H [ I
T00/- §

(C) e T THARR T 80 - F ek qTd TS AR 5% 0 T2 31 &, o] ;¢ fop A T 75 /- %

(D) T Hiwa forel W 35% %1 That g2 R 20% A <) 6 Gl o WA R 3 20/- &, 7@ forer Al
% T T 2200/- &

el e e e o 9 WY SR o < I
) A) (BT ()

2) AT ()

3) B)T (D)

Ea
S
EE
4 @ (C) T (D)

( (
( (
( (
( (

Options :



1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307211602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain coded language :

“Indian cuisines are good” is coded as : “MI CI F1 GI”

“They like Indian cuisines” is coded as : “Al LI MI CI”

“People like Indian Chinese” is coded as : “PI LI MI HI”

“They and people are best” is coded as : “Al DI PI FI BI”

How the words "good” Chinese” and "cuisines” are coded in this language ?

(1) Gl Hland ClI

(2) Al Lland FI

(3) ML, DI and BI
(4) HI, Cland LI
Options:

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307211602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fereft e o A

“Indian cuisines are good” %I Feog He H “MICl FIGI” forg e @
“They like Indian cuisines” I F2dG HIE H “Al LI MI CI” foran S &
“People like Indian Chinese” FI F2dg & § “PI LI MI HI” feran S &
“They and people are best” Ea) FdG %1€ § “Al DI PI FI BI” foran wmen €
‘good’, “Chinese’ T§ ‘cuisines’ J&5] &1 39 991§ FY Fedg fhan o ?

(1) GIHITECI
(2) AL LITSFI
(3) MI, DIUd BI
(4) HI, CIus LI

Options :

1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307211603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The average age of a group of workers is 42 yrs. If eight (8) new workers of average age of 36 yrs.
join the group, the average age of the group becomes 40 yrs. Find the number of workers initially
present in the group :

() 17

(2) 16

(3) 18
4) 20
Options:
1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307211603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T 91 HE 1 3010 g 4290 €1 3G 36 7 31 S 31 a1 § (372) T A1 3 e § i
o & 1 9 o it o 40 B W €1 g e wufeem st % e wau

() 17

(2) 16
(3) 18
(4) 20
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307211604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

”Accordjng to some newspapers tnday the Crime rate in New York has slightly increased in the
recent past. New Yorkers are nothing but a bunch of criminals”. Which fallacy is committed in
the above statement ?

(I) Slippery slope

(2) Appeal to Inappropriate Authority
(3) Hasty Generalization

(4) Strawman

Options:

1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307211604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" 71 5 WA % SRR ek § T Tl H S A 9 9 T & | =g o S & U
e & Sfafta 33 T 1" S o § e e o T 2

(1) e B

(2) ST R F o

(3) o QT

) TR ()



Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307211605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true ?

(A)  An argument is sound when it is valid and has only true premises

(B) Inan argument truth of its conclusion determines its validity by itself.
(C) Some valid arguments have false premises and a true conclusion

(D) Some invalid arguments have false premises and a true conclusion
Choose the correct answer from the options given below :

(1) (A), (C) and (D) Only

(2) (A), (B) and (C) Only

(3) (B) and (C) Only

(4) (A), (B) and (D) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 27 Question Id : 53307211605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafas § § FF9 Fo6 T §72

(A) T gf 29 € ST U8 94 B IR Fad o AR Wl o |
(B) ot gfsa o 3w Frerd o1 v @4 goet duan fauifa @ €1
(C) FB Iy gfFadi o SUEHE 579 3R f7ehd 9 2 € |
(D) F3 Y it 1 anenfishd e iR frepd wca 2 €
A fou U okl ¥ | W@ SO 1 994 HifU

(1) %4 (A), () ¥R (D)

(2) e (A), (B) 3R (C)

(3) %A (B) 3R (Q)

(4) 9@ (A), (B) ¥R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 28 Question Id : 53307211606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing extension.
(A) Sonnet

(B) Poem

(C) Verse

(D) Literature

Choose the correct answer from the options given below :

(1) (A) (B) (©) (D)

2 (D), (©), (B), {A)
(3) (D) (B), (A), (C
(4) (A) (B), (D), {C)
Options:

1.1

2.2

3.3

4.4



Question Number : 28 Question Id : 53307211606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafeaa = awae & =ed gu %0 ¥ srafem it
(A) =EI-94l (HF2)

(B) #Hfaa

(C) =

(D) wrfed

A= fou TTq foreredl # | W& 3T Rl =9 IS

(1) (A) (B), (O, (D)

(2) (D), (©), (B), (A)

(3) (D), (B), (A), (O

4) (A) (B), (D), (©

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307211607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Informal fallacy) (Reason)
(A) Argument from Ignorance (I) Presumption
(B) Appeal to Emotion ()  Ambiguity
(C) Fallacy of Division (IlT) Relevance
(D) Begging the Question (IV) Defective Induction

Choose the correct answer from the options given below :
(1) (A)-(1V), (B)-(1D), (O)-(ID), (D)-T)

(2)  (A)-(IV), (B)-(I), (C)-(LI), (D)-(IT)

@) (A)(D), (B)-(IL), (C)-(ID), (D)-(IV)

(4)  (A)-(IV), (B)-(IIL), (C)-(11), (D)-(1)

Options :

1.1

2.2



3.3
4.4

Question Number : 29 Question Id : 53307211607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e s
Teil-1 THi-11
( 3R dehard ) ( =TT )
(A)  sfvar § Ffor () e
(B) HAIVTE E (I)  sregeeal
(C) TawrsH weha (II1)  wrefireRa
(D) 3TeHISE T (IV) Ffeqol e

4= fou 7o fasredi § ¥ 98 SO 1 =94 e .
(1)  (A)(LV), (B)-(1I), (O)-(11L), (D)-(I)
(2)  (AMIV), (B)~(I), (C)-(1L), (D)-(IL)
(3) (A1), (B)-(LI), (C)-(1I), (D)-(IV)
4) (A)-(IV), (B)-(1I), (O)-(1D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307211608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyaya logic, which of the following statements is fallacious because it involves a non-
inferentially contradicted middle term ?

(1)  The hill has fire because it is knowable
(2) Fire is cold because it is a substance

(3)  All things are non-eternal because they are knowable
(4)  Sound is eternal because it is audible

Options :

1.1

2.2



3.3
4.4

Question Number : 30 Question Id : 53307211608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T TR o S FAAferia ) e e ook 39 U & e 6 -SRI A 7
&

(1) TR R 3 ¢ FiF T A T

(2) om Yo & i 7 T WY R

(3) 9 U TRy € i A FAE

(4) af v ¢ A 7% 9 €|

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307211609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With reference to computer networking, which of the following statements is true of an Intranet.

(I) Itisa network within an organization that uses Internet protocols and technologies.

(2) Itis anetwork that covers a wide area with the help of rented telecommunication lines.

(3) Itis anetwork where a computer is connected to the Internet and acts as a gateway for other
devices.

(4) Itis a widely available public network of interconnected computer networks.

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307211609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fget Tk & oo § F 1 4 dove gad R 1 F e 98 R

(1) 8§ & Wit 1 o ¢ Sl 32072 Werhiel @ renmiieRal o Jam & @

2) % T "9 & W (RO I AR A B Wer W U S A 1 S e ¢
3) T U Tea ¢ el HUI 3201 U T A & S o AR o e e ok e
4) T TO- WA R 2] 1 ATH T § 3G AR e &

Options :

1.1

2.2

3.3
4.4

(
(
(

Question Number : 32 Question Id : 53307211610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched ?
(1) CDROM - Computer Disk Read Only Memory

(2) CRT - Cathode Ray Tube

(3) MICR - Magnetic Ink Character Recognition
(4) AVI- Audio Video Interleave

Options:

1.1

2.2

3.3

4.4

Question Number : 32 Question Id : 53307211610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ufteft 3R SueF fawar &1 1 ¥ ¥ %60 | g gafea Tl 82
(1) H1 7 3R 30l O - &g fewer e siHal 36l

(2) H R F - FAE L T

(3) TUH 3 Gl 3R - WHEF Tk h{det RHeH
(4) TH IR - sifedr difedl st

Options :

1.1

2.2



3.3
4.4

Question Number : 33 Question Id : 53307211611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dent'Lfy the sequence of words A-E that correcl‘ly fills the blanks n the following paragraph ;

An operating system that uses windows, icons, menus and pointers for human - computer
interaction, is known as . Post-WIMP inter-faces found on devices like iPads, iPods
and mobile phone make use of technology that allows us to use our fingers to select
icons and menus. Post-WIMP interfaces allow us touse , totating and swiping
techniques. The technology that allows users to store documents, programs and data on Internet
is known as . Documents created using Google Docs are stored _ _on the

Internet and can be accessed anywhere and at any time.
(A) Touch Screen

(B) Cloud Computing
(€) GUI
(
(

e

D) Remotely
E) Pinching
Choose the correct answer from the options given below :
1) (© (A E) 0) @

) (4,0, 0) @)
) () (0).(0) (B (A
' ) (B), D

( )
( )
@ (€ (A) ), B), D)
Options :

1.1

2.2

3.3

4.4

Question Number : 33 Question Id : 53307211611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AE Y& % 0 1 Teem it o fey e o fra T R w o R

G- ST ) TS, e, W @ Wt o1 A 0 el e Jome R

T T o €1 o e, o1 e iR W R S AR R R T e -2 o o 1 3
TrENfiTR! o S o € 0 g e sffer 2 A o o B9 R S €1 O v o

w O Ze0h o U 9 U T A A EE < ¢ TR e W e,

TV 9 ST e 4t ST < ol e H & H T G | T S A

T Yo 32T W W & & O T 7 Tl o o o of T 1w g

4 fou U foped & 0 WG W 1 T HC

(1) (©(A), E) D) B)

2) (A)(C), D), (B) E)

, (D), (C) (E), (A)
D)

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 53307211612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following devices are computer input devices only ?
(A) DVD-R

(B) Joystick

(C) Plotter

(D) Touch Pad

(E) Microphone

Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only

(2 (B), (D) and (E) Only

(3)  (A), (B) and (C) Only

(4) (B), (C), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 53307211612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=1 8 3 = O gfgaa Faa e 1 gfaa € €2
(A) EralE - AN

(B) wafE®

(C) =X

(D) 2z Yg

(E) HIZhITIA

e feu T faekedi § € W& IO 999 HIa ;

(1) <= (A), (D) 3R (B)

(2) & (B), (D) ¥R (E)
(3) e (A), (B) ¥R (C)
(4) 9 (B), (C), (D) 3R (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 35 Question Id : 53307211613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List-1I
(Error Message in MS-EXCEL) (Error Description)
(A) #HHH# (I)  When the formula contains a cell reference that is
pointing to an invalid cell
(B) #VALUE! (II) When you divide a number by a cell that points to
an empty cell
(C) #REF! () When the arithmetic formula contains text instead
of a number
(D) #DIV/O (IV) When the cell contains a number that is too wide for

the result to be displayed
Choose the correct answer from the options given below :
(1) (AJ-{I), (B}IV), (CH(L), (D)-(1)
2) (AHIV), (B, (CH(L), (D}(I)
3) (A0, (B)-(IV), (CH(I), (DHI)
1) (AHIV), (BH), (), (D)

Options :
1.1
2.2
3.3
4.4

@ |
G
@

Question Number : 35 Question Id : 53307211613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el ¥ -1 1 e e

Tl Tl
(T TR T W e W) (7fe faron)
(A) #hshs () ¥ VTS e B & W) oY e A A 3
HEAMNE
(B) #VALUE () ¥ oM & Fen F g § favife & € 9 fs
TS ol R 3 A
(C) #REF! () 7@ SRt 3§ Ge o WH T R () &
(D) #DIV/O (IV) 4 T3 # 3o ot forga e €, e oftomm
Wi 7 o 1 W6
A fou T forsredi B W@ TR T Fi
(1) (AH), (BHLV), (CHID, (D)
(@ (AHIV), (B)-L), (CHI), (DHI)
() (A1), (BRIV), (C}(I), (D)-(I)
() (AHIV), (B)-1), (CHIL), (DHI)
Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307211614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Pure rain water is naturally :
(1) Mild Acidic

(2) Mild Basic

(3) Neutral

(4) Strong Acidic

Options:
1.1
2.2
3.3
4.4



Question Number : 36 Question Id : 53307211614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fagrs aul S/t yrkfas w9 | 1 g1 € ?
(1) ¥g 3™

(2) He A

(3) =RIEH

(4) fa sr=i™

Options :
1.1
2.2

3.3
4.4

Question Number : 37 Question Id : 53307211615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Presence of Lead in drinking water can adversely affect the human health. The three vital systems
in the human body that are most sensitive to Lead are :
(A) Nervous system
(B) Cardio-vascular system
(C) Renal system
(D) Respiratory system
(E) Blood forming system
Choose the correct answer from the options given below :
() (A), (C) and (E) Only
B), (C) and (D) Only
B), (D) and (E) Only
A), (C) and (D) Only

@ |
3
@ |
Options:
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 53307211615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



STt T T o eI WG T W o 9 S e & | & Ui Fa i W
el YO o i WEeul 7 & -

(A) ¥

(B) -olfeeH

(C) A

(D) A T

(E) T fwim o

7 fou T fomredi @ B W@ TR T Fi

(1)
(2) el
(3) &
W
Options :
1.1

2.2

3.3
4.4

Question Number : 38 Question Id : 53307211616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following represent the nutrient contents of a water body at different levels ?
(A) Phototropic

(B)  Eutrophic

(C) Mesotrophic

(D) Chemotrophic

(E)  Oligotrophic

et

Choose the correct answer from the options given below :
(1) (A),(C) and (E) Only

(2) (B), (C) and (D) Only

() (4),(8)and (D) Only

) () (Cand {) Ony

Options :

1.1
2.2



3.3
4.4

Question Number : 38 Question Id : 53307211616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafee § § FHY v ey ¥ fofis & ® dmes @ ) 2fad w2
(A) W W (BRRIE)

3 e o oot # @ W@ ST 1 T FAC
) I (A), (C) ¥R (E)

) % (B), (C) @R (D)
) (
)

(B)
3) %ad (A), (B) 3R (D)
4) %94 (B), (C) 3R (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307211617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true about sound ?
10 decibel (dB) increase in sound is equal to 10 fold increase in sound intensity

B) 20 dB increase in sound is equal to 20 fold increase in sound intensity

The audible sound range is between 20 Hz to 20 kHz
) Sound below 20 Hz is called ultrasound while above 20 kHz is called infrasound
Choose the correct answer from the options given below :
() (4), (8) and (D) Only
(B), (C) and (D) Only
(C), () and (E) Only
(A), (C) and (D) Only

(4)

{

(C) Loudness is the human perception of sound intensity
(D)

E

()
()
(4)

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307211617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frreifefian 8 & i Fem i o o f o €7

(A) =¥ 10 <Hew () 9 3fg @&t # dom § 1079 35 F T

(B) ¥ 0 7 33 BF F w H 20T 35 F THE

() arcr et 2 et 1 A JeafieR |

(D) 957 4af 1 39 (W) 20 Hz B 20 kHz F 919 &1

(E) 20 Hz % A4 et 1 T0eaf Fe) S €, ol 20 kHz & T 5 9 33-5a Hgl 0 ¢
4 feu U foemed W § W R A 79 FI

Options :
1.1
2.2
3.3



4.4

Question Number : 40 Question Id : 53307211618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following green house gases trapped in large quantity in permafrost and hydrates
will likely be released in atmosphere due to global warming ?

(I)  Nitrous Oxide (N,O)

(2) Methane (CH,)

(3)  Chlorofluorocarbons (CFCs)
(4) Hydrofluorocarbons (HFCs)
Options :

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307211618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 19 (el ) o 7 el o qfy (eree) it e o et e o 4 e
T 198 179 o Foart &1 a1 et 22

o

T2y SRS (N,0)

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307211619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The Council of Education (in India) sought the establishment of a university in :
(I) Bengal Presidency

(2) Bombay Presidency

(3) Madras Presidency

(4) North-Western provinces

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307211619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foren ftwe (v ) 3 Fefafed § | fg o v favalamem & = & g fe?

(1) o gree=r
(2) a g
(3) wErE yfEe
(4) FR-ufeE o= o
Options:
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 53307211620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the New Education Policy, 2020, who among the following must be at the centre of
fundamental reforms in the education system ?

(I) Policy makers

(2) Teachers

(3) Industry leaders

(4)  Administrators

Options :

1.1
2.2



3.3
4.4

Question Number : 42 Question Id : 53307211620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

it fine A 2020 % S8R, 17§ © o Aeger qomedt § v G o o H G e

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 53307211621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Anglican Missionary Societies were most involved in teaching in high
schools and colleges across North India in later part of Ninetieth country ?
(A) The Church Missionary Society

(B) The London Missionary Society

(C) Society for the propagation of the Gospel

(D) The Cambridge Mission to Delhi

Choose the correct answer from the options given below :

(I) (A)and (B) Only

()60 0

(3) (C) and (D) Only

(4)  (A), (C) and (D) Only

Options :
1.1
2.2
3.3
4.4



Question Number : 43 Question Id : 53307211621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et o 4 - ol () fror et 19 vt 1t et o e R o A 3=
foremerai wa et o e o st fmfor o 7
(A) T frmth St

(B) & e frordl wrme

(€ S i & 9 i 3 e

(D) e it fire 2 fecet

A1 few T ol W 9 e S 1 T I
(1) 3 (4) 3R (B)

@ () @), (), D)

() @ (C) &R (D)

(@) @ (4) (O D)

Options :

1.1

2.2

3.3
4.4

Question Number : 44 Question Id : 53307211622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the chronological order of the following agencies of educational administration in British
[ndia.

(A) University Board

(B) Board of Governors

(C) Committee of Native Education

(D) Council of Education

(E)  Department of Public Instruction

Choose the correct answer from the oplmns gwen below :

(1) (&) (€ ) (E) ()
@ @), () ©) A), )
() © (), 0), () ()
(4) ) () B) Q) A)

Options :



1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 53307211622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forfest Wi W 91 9ifark T9me 1 TS T9di 1 FHIcTsh{Hs ®9 H o0 ;
(A) fovafaaram are

(B) dIE 3 MY

(C) <t fren =1 wfwfa

(D) foien gRug

(E) Wi e &1 fasm

A e T ferpedi @ | W I 1 = I
(1) (A), (©), (D), (E), (B)

2) (B), (E), (O) (A), (D)

3)  (©), (A), D), (B), (E)

4) (D), (E), (B), (O), (A)

Options:

1.1

2.2

3.3
4.4

Question Number : 45 Question Id : 53307211623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
(Author) (Ancient Text)
(A) Gotama (I)  VaiSesika sutras
(B) Patanjali (II) Nyaya sutra
(C) Kautilya (III) Yoga sulra
(D) Kapad (IV) Arthasastra

Choose the correct answer from the options given below :
(1)  (A)-(IL), (B)~(1D), (C)-(IV), (D)-(I)

(2) (A1), (B)-(I1I), (O)-(IV), (D)-(I)

(3)  (A)-(II), (B)~(ID), (C)-~(I), (D)~(IV)

(4) (A)-(10), (B)-(IV), (C)-(I1I), (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 45 Question Id : 53307211623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs
Ti-1 Tl
(TG ) (U= TS )
(A) T () s g
(B) Tdsiiel () =g
(C) ife™ (LI1) =r g
(D) FUE (IV) 3o

=1 feu U foehedi § € Wél IO ol T FHI9T
(1) (A)-(), (B)-(1D), (©)-(1V), (D)-(I)

(2) (A1), (B)-(IL), (C)-(IV), (D)-(I)

(3)  (A)-(II), (B)-(ID), (O)-(), (D)-(IV)

(4) (A1), (B)-(IV), (C)-(I1L), (D)-(I)

Options :

1.1



2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072457
Question Shuffling Allowed : No

Question Id : 53307211624 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow.

Adolescence is the most important period of human life. Poets have described it as the
spring of life of human being and an important era in the total life span. The word adolescence
comes froma Greek word ‘adolescere” which means "to grow to maturity’. A number of definitions
have been given by Psychologists from time to time. Some Psychologists define it as the transitional
period of life. The child experiences a number of changes in this transitional period. The period
runs between childhood and adulthood and is some times called the period of teenage.

According to A. T. Jersild “Adolescence is that span of years during which boys and girls
move from childhood to adulthood, mentally, emotionally, socially and physically”.

Chronologically adolescence comes roughly in between the years from 12 to the early 20's,
The onset of adolescence varies from culture to culture depending on the socio-economic conditions
of the country. In this period, great changes occur in all developmental dimensions of the individual.

Sub questions

Question Number : 46 Question Id : 53307211625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term 'adolescence’ means :

(1) A state of bliss

(2)

(3) Moving towards maturity
)

(4

[nnocence of childhood

Detachment from materialistic world

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 53307211626 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

The origin of the world “adolescence’ has come from the following language :
(1) Latin

(2) Greek

(3) Sanskrit

(4) German

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307211627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT. Jersild’s definition regarding adolescence highlights the following :

(I) A child moves from childhood to adulthood, mentally, emotionally, socially and physically.
(2)  Adolescents spend less time in front of the television than other age groups.

(3) Adolescents reject their parents as companions and as a source of advice.
(

4)  Only a minority of adolescents experience some serious psychological issues.

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307211628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Poets have compared adolescence to the following phase of life :
(1) Summer

(2) Winter
(3) Spring
(4) Fall
Options :
1.1

2.2

3.3



4.4

Question Number : 50 Question Id : 53307211629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements about adolescence is true ?

(1)  Adolescence is a period in between the years from 12 to the early 20's.
(2) No one can predict exactly when adolescence commences.
(3

(

4)  Adolescence does not include any physical and psychological change.

)  Adolescents are incompetent in tackling science and mathematics puzzles.

Options:
1.1
2.2
3.3
4.4

Question Id : 53307211624 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

i Terior 2Bt S, UaT A W o SR S

feRYIRToReN G e 1 o Ve St €1 i A 38 W e o a6d A e S
A % e g o ¥ A e €1 e v g Ve TeerR’ § for T R
forerert cref 2 & v e ol 2| SRR A SHE- R O 3HE S TR € €
9 WA 38 S % Wepiio-ahiet o 0 H TR A & | 38 Sahifoe § e v S
S VT N €| R oFafel T SR PR 3 o 9 ol 3 € R et ) i
(MG el T |

A, SRfites % AR " TR 9 FIEE § 9 gk AR cgrl T B W,
B ¥, Fo € Y S Y €Y 0 o Y S AR g

HTCTRH o ST, Feruimeren A SR 12 o R e Ry % 20 3 % g ¥ ot 3 oty A
T ToRuITaRen ) 6T < ) W - o feofo & MR R S-S S H ofe- ST
ol & | 39 sty ¥ oo % 9 forpce S § Hew oited 2 €

Sub questions

Question Number : 46 Question Id : 53307211625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fereTrraren’ veg o 2 €

(1) OTH 3= T A

(2) YA H WA

(3) OfCgeerdl i SR ST

(4)  sifaerarenel gfen § faxfaa
Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 53307211626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e’ Wi Y Seafy ety e ¥

(1) wfeq ¥

(2) I (UER) 9
(3) wERdH

(4) “HAH
Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 53307211627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fepvIrere & ety ¥ U8, Wfes # v Frefefed #1 S €

(1) T T W & ¥, Wl &9, T &9 9 S I &9 8 a9 § 9w 6
T

(2) ToRI, 374 ST o o @ a1 el el o W W FW o €

(3) oI T - 1 eft S TR 1 E  E9 H SRR

(4) o o HE W g i 5 TR AR R o A R

Options :



1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307211628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ffodl A forumrereen &t g sfeq & frefafed s #1 ¢ -

(1) T 3q
(2) ¥ Y
(3) =Hd F
(4) TS
Options :

1.1

2.2

3.3

4.4

Question Number : 50 Question Id : 53307211629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fervirrereen % an # frefafae For § 9 $9-1 F9 T 87

(1) Tersimreren 12 5 it 379 § @ i 20 99 %1 31 % o4 F1 3@ & ¢
(2) IS wfesAaTI Tl o G © o ForviNreRen e ST 2l ¢

(3) TR, Torm it i i WeRafEl 1 2ol A H e A g

(4) Forarereen # % Y SR wIeRIe Wit T A ¢

Options :
1.1
2.2
3.3
4.4
Marathi
SectionId : 533072154

Section Number: 2



Section type: Online

Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072458
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307211630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FIe et FIRITE! WIS el SN Sidei@ Foam e 99 Fo o ?
(1)

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 53307211630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FIeT i FIVRIET WIS el SN Sider@ Foam e 99 Fed md ?
(1) amd

Options:
1.1
2.2
3.3
4.4



Question Number : 52 Question Id : 53307211631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SRFIICH TS A ?
(1) SATRIOTER hetel orad
(2) FASY YESHEN oG
(3) SEFEY fergemo
(4) ©ET Fld AT Foredl s
Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307211631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR WU T ?
(1) SATRTOTTENE Fefel oa
(2) FAEY YESHFER G
(3) SrEgEY fergemor
(4) THET FUd AGA Forel HAHGAE
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307211632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST 0T STOTferTen oMo T e e e, Yeaenel, “Touneren 71 &t e
Vel AT A FF SO o, R 4TS 3T A IR 4R S o ?

(1) efaaeTen FHe

2) I g

3) 3w STfeR

(
(
(4) T FoHT



Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307211632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST e STorTeeh SMeTen o A Wieed 14T, Wegehte, STAIer] 21 &5 S9gan S
Vel AT O 7 G o6 e, @ e HTe A foei 2RI 47T Sffere e /

(1) enfaerend: qe

() S T

(3) 3T sfam

(4) T FoHT

Options :

1.1

2.2

3.3
4.4

Question Number : 54 Question Id : 53307211633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEAERArAT I YHE YT ST

(1) =i W™, e WAfEgH, 958 SHfaaH

(2) HIYU EHRGA, A=A AR T Qi WHfas™
(3) fafrmams wEfam, Siares WAfasH, s EHagH
(4) FovHTCHSE ToAfawH, fafFrams wrfasr, g wHfasH
Options :

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 53307211633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



EACRIATEAT ] YHE I 37

(1) =i W™, e WAfEgH, 958 SHfaaH

(2) HIYOT TR, SrEie WHfaEH U6 Qe SWHfEH

(3) Tafaarhes @A, SI9uTes WHAfaRH, siwis T
)

(4) GAYHTCHS THAfaTH, fafracns: @afaar, e wEHfaEH
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307211634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o o 3 SRl IR ST GIEHETel A Hd -
(A) HIM9F G FH FEA U= &Hd1 JIOET STSidd 35,
(B) T ferekvaTe WM aTEfER Td i e sTa.
(C) = Haifa Wewaman o weurst fo<t fafdsfier.
(D) T FERvATETE] ST SRt f¥rehrE @rT.

(B) wmr=it Tawregereen ammd =l oy 9.
eTeTehl 3T<leh Taig et

(1) FEe (A), (C) =1for (E)

(2) S (A), (D) MW (E)

(3) e (A), (B) T (C)

(4) FES (A), (O) T (D)

Options:

1.1

2.2

3.3
4.4

Question Number : 55 Question Id : 53307211634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o o g SiFh! IR ST GIEHEETal A Tl -
(A) I G T FEA HUAE] &Hdl JIOET STSidd 3.
(B) T ferekvaTe wmed araEfER Td Gt g st
(C) uTu=n Halla Wewara o weurst fa=i fafddmsiier.
(D) 9T FYERTITETET ST SRt f3reRra @R .

(E) wRr= THaweHesa SaMme =l oy 9.
gﬁﬂﬁﬁmqﬂhﬁa@:

(1) e (A), (C) o (E)

(2) FEB (A), (D) W (E)

(3) B (A), (B) 1 (C)

(4) 9 (A), (C) 3foT (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 56 Question Id : 53307211635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘FYETEd STEENE

(A) ST HAGYH U ST
(B) HATH FUF 37,

(C) T-Frar F9iF A5,

(D) HTUHi=A1 BleTETe feuetedn STEard.
(E) o= sragned 9 Id.
eleTehl 3T<leh aig et

(1) %A (A), (B) 3 (C)

(2) %= (B), (C) T (D)

(3) Fa@ (A), (D) 7 (E)

(4) 9= (A), (B) U (D)

Options :
1.1



2.2
3.3
4.4

Question Number : 56 Question Id : 53307211635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"IyEEd’ STEERA
(A) SHFITAT HACS T 27,
(B) HAT= TUTT 37,
(C) ISI-=rT= 9uiq 7.
(D) HTogi=A1 BleT=re feaetedn STHard.
(B) o%= 1agnd avid 4d.
Yeleidehl 3T=leh 9419 et
(1) & (A), (B) 31 (O)
(2) %A (B), (C) =T (D)

) e (A), (D) 3 (E)
(4) 9 (A), (B) HIfor (D)
Options :
1.1
2.2

3.3
4.4

Question Number : 57 Question Id : 53307211636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



1) T fereneta s feEfarer; afin (2) @4 SR o Sieies, A fFEer e g
A) feFe frame
B) Iwafay e

1
]

(
(
(
(
(
(

E) e fFe (Fe)

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307211636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Options :
1.1



2.2
3.3
4.4

Question Number : 58 Question Id : 53307211637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

b2 B4 5 e G B | e i e fe et 21 o) = | = ol e i 1 =

-1 -1
(A) e () =4, 196E, 3=E
(B) eI (1 wE fega m, w8 aR=
(C) efewri (IlI) 3TTE, FE, 3703
(D) ozl (IV) 3T, iEl, Hari
RTeTehl 3Teleh ATg et
(1) (A)-(1), (B)-(1L), (O)-(1), (D)-(IV)
(2) (A1), (B)-(I), (O)-(1L), (D)-(IV)
(3)  (A)-(IV), (B)-(LI), (C)-(1), (D)~(L)
4) (A)-(IV), (B)-(1I), (C)-(1), (D)~(II)
Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307211637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TSI drelt Sfor S Yes-ugl i el e ¢l

i1 Tt-11
(A) ==t () TG, HE, B
(B) et 1) ¥ fega m, w8 uR=
(C) Afe (L) FTH, FE, 313
(D) Tl (IV) 37, arel, HIri
WWW?—H@T:

(1) (A)-L), (B)-(1D), (©)-(1), (D)-(IV)
(2) (A=), (B)-(1), (C)-(1), (D)-(IV)
(3)  (A)-(1V), (B)-(IIL), (C)-(T), (D)~(I)
(4)  (A)-(1V), (B)ID), (O)-(D), (D)-(11)
Options :

1.1

2.2

3.3

4.4

Question Number : 59 Question Id : 53307211638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Stre e T

-I -1
(A) T T4, <iem () TS FEdidia FHEE Wey
(B) Ta. =1 UsEme (II) FRE HUE Teahd
(C) W¥E ek Yeadd (1) Teare oEagys, Y U
(D) 4. H. 9317 (IV) TSl 9= =2
qETeTishl aTees g41g e
(1) (A)-1D), (B)-(1V), (O)-(I1L), (D)-(D)
(2) (A, (B)-(1V), (C)-(1I), (D)-(I)
(3)  (A)-(IV), (B)-(IIT), (C)-(II), (D)-(I)
(4)  (A)-D), (B)-(L), (C)-(II), (D)-(1V)
Options :
1.1

2.2



3.3
4.4

Question Number : 59 Question Id : 53307211638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sreal Seodl
| @-ll
(A) T 9. sied () TS FEiidid wHE= ©WEy
B) fa. = usEre (1) FRE A3 Tegeh
(C) TYE =& Yeadd ([I) TS oEdus, 9 U
(D) ¥ . 93 (IV) WSt 9ru=t =
R eyehl TR A feE
(1) (A)-(1D), (B)-(IV), (O)-(I1D), (D)-(T)
(2)  (A)-(I), (B)~(1V), (O)-(II), (D)-(T)
(@) (A)-1V), (B)-(IID), (O)-(1D), (D)-()
(4)  (A)-D), (B)-(I), (CO)-(II), (D)-(IV)
Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307211639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

 STUYTTERTOT ARG Faria Siel 16T foshm qraet’ 3/ Ha vl wige ?
1) 41 = Fa

Options :
1.1
2.2
3.3
4.4



Question Number : 60 Question Id : 53307211639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

 SUYIRTCA ABTITHGY FATIq el 197 fosh rael’ &/ A vl wieet ?
g1, T, FaH

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307211640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hifeea Wt W S, e T AT e @ fefue g e Ofcie e A
Al ‘Jﬁﬁﬂﬂﬂﬁﬂ@ﬂ (Document) 378, & FfAueH v el

(1) W
2
G)
£

i%ﬁ’

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307211640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



feea Wit SR e, e TR g ot @ o gy W SR @
HETeA Yo e (Document) 9, 374 e I e,

()

o w
(3) @
@
Options :
1.1

2.2

3.3
4.4

Question Number : 62 Question Id : 53307211641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e (AT A e e 1 3 e S FIT W € A, R
-l Gl ST~ Tl e el Wigsl," & e sl iel,

(1)  HWiS e

(2) e WE T

(3) TER A

(4) ufe

Options:

1.1

2.2

3.3
4.4

Question Number : 62 Question Id : 53307211641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" e o e S 1 ) WicoTel 9 SRR W 21 9. R
i~ el e ST~ Ol et el Wil & i Sl Aiel

(1) HWiTg e

(2) e W T

(3) TER HE

(4 ufe



Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307211642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

THTIN I SAhFeATTeRITel * @k’ 21 Yaid] e Tager shiv SraLe,

(1) = IE
(2) SIS TR
(3) SATHR 9T
(4) dSMASIRT e
Options :

1.1

2.2

3.3

4.4

Question Number : 63 Question Id : 53307211642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

THTT A AR ehelTTeh e - wiehred’ 81 AT g Hegery shiof aae,

(1) R IE
(2) OIS e
(3) SATHRM T
(4) TWASIE] FEF
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307211643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BT 79 YA TR A Al

(A) Tager gl 2 3.

(B) ITieIEHLl Fexdes U1 Aifecd.

(C) <fera wifec : dg aAfo fagie

(D) T9edt gzTe : W sfera wifecar=i Hiwidm
(E) WreRare anfor sferd wifec

eleTehl 3Tl T4 faet
(1) (E) (B), (C (D), (A
(2) (B), (E). (D), (©O), (A

(3)  (A) (O, {D) (E), (B
@) (©) (A E), D) (B

Options :
1.1
2.2
3.3
4.4

)
)
)
)

Question Number : 64 Question Id : 53307211643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT 79 YRYH TUER AT Al
(A) TogEr 9l 2o .

(B) STeIEHL Fexdes U1 Hrfecd.
(C) =fem wifec : agm et fage
(D) a8t qere : Wl efera wifecar=i Hwidm
(E) WeRHars anfur sfera wifecd
EIeuhl 3Tgeh T41g faer

(L) (E), (B), (C) (D), (A)

(2) (B), (E), (D), (O), (A)

@) (A (©), (D), (E), (B)

4) (C) (A), (E), (D), (B)

Options :
1.1
2.2



3.3
4.4

Question Number : 65 Question Id : 53307211644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U SFeArEH T A1 fowid g fae

(A) Tl T T e,

(B) W T Wifecdred WHAHR H1ed & T, T A g 2 fowe) e o7y v,
(C) EITCHa STeAvaMIc ey’ Ted T,

(D) TG SN0 VeI S Harel 467 A U1 oA Tzt W S,

(E)  TTEITeHeR JaHTel WEleHed T2t S o,

WE@EWW

1) % (4), (C) A E)

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307211644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



U FTeAmeHd 4 faur v fee

(A) T oA TR TR,

(B) IR A Hlecre TWRTaR Fed ¢ Ve, Teag oA g 71 ft weeum 37y v,
(C) RITCHa eAvaMIc  §iaY' red U,

(D) TG S Eerg, S Hard o7 YaHA Yl e Feeel W a7,

(E) TR YaMTe Feled Weae S 97,

Wﬁﬂ%ﬂqﬁ@:

(1) & (4),(C) @ E)
() @ (@), (C) & (E)
() @ (8), (C) 4 (D)
() @ (C), (D) A (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 66 Question Id : 53307211645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ifecaehdr=a1 ara-ra Jera el Afydd s,

(A) STrERgiRad a9, 991, 99, & gt gag siven ffeed.
(B) AT arerehT=Al Tafmse SHedAiAT FHferd 31 Tehd.
(C) ot o H2fa Hiedmeal 7Y Yehd Al

(D) @k Hieddra el T Tiehidl a¥ el AR,
(E) Hfearenerd (Textualism) STl ST S 379,
YETeTeh! 3T<leh qard fHeet

(1) Fdes (A), (C) o1 (D)

(2) e (B), (D) S (E)

(3) Fa2 (A), (B) U (E)

(4) F9 (A), (B) T (D)

Options :



1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307211645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tifecrgdr=an araqa Jera we Sfada oream.

(A) STrERgiRad a9, 991, 99, & gt gag siven ffeed.
(B) AT arerehT=Al Tafmse SHedAiAT FHferd 31 Tehd.
(C) ot o H2fa Hiedmeal 7Y Yehd Al

(D) @k Hieddra el T Tiehidl a¥ el AR,
(E) Wfedmamard (Textualism) SET=AT ST 31k 3160,
YRieiiehl 3Teleh 941g el

(1) = (A), (C) T (D)

(2) @ (B), (D) MM (E)

(3) B (A), (B) ST (E)

(4) 9@ (A), (B) &1 (D)

Options:
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307211646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



It AT A0 FTeAeRi Tl A e qoel

Tl T
( ey ) ( FTera! )
(A) T () @Y 7o foeen aTeraleie e 71 STGeHTeR =l S o8 %91
(B) T (I1) 01 T 1 ST 1 Gl 1 all ik T G TS Fhl Gerg
Tl S T
(€ < 1000 e A 2 R e B b )
(D) TSR (IV) T & SEele qaie o) T He) 3 3
‘jﬁ?ﬁﬁ%ﬁ@ﬁﬁﬂ@:

(1) (A, (BT, (CH), (D}V)
@ (AMI), -0, (CHIV), (D))
() (AHIV), (BHID), (C1(D), (D))
(&) (AM0), (BRI, (CH(IV), (DHI)
Options :

1.1

2.2

3.3

4.4

Question Number : 67 Question Id : 53307211646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



It AT A0 FTeAeRi Tl A e qoel

T T
( ey ) ( FTera! )
(A) T () @Y 7o foeen aTeraleie e 71 STGeHTeR =l S o8 %91
(B) T (I1) 01 T 1 ST 1 Gl 1 all ik T G TS Fhl Gerg
T S T
(€ e () Seeren S , . . SFeHed aEes Zael i
(D) TR (IV) 30 ST SR e e O el 30 3
WWWW:

(1) (A, (BT, (CH), (D}V)
@ (AMI), -0, (CHIV), (D))
() (AHIV), (BHID), (C1(D), (D))
(&) (AM0), (BRI, (CH(IV), (DHI)
Options :

1.1

2.2

3.3

4.4

Question Number : 68 Question Id : 53307211647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

geit-1 Tei-11
(A) WY R 0 A
(B) . fd. et (II) ifeErSe
(C) & 7. Teq (III) T IR
(D) =g HfeTeY (IV) Sforeq qaH
Yereidenl 3Teleh 9419 feret

(1) (A)-(ID, B)-(IV), (O)-1), (D))
(2)  (A)-(L), (B)-(), (C)-(IL), (D)-(IV)
3)  (A)LV), (B)-(1D), (O)-(L), (D)-(I1I)
(4)  (A)-(), (B)AIV), (O)-(11), (D)-(I)



Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307211647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gt Teit-11
(A) WY e ()
(B) . fd. shesht (II) vifeErSd
(C) B 7. 7ed (I11) Tl HTAITER
D) W=ig Hfeaeny (IV) gfasweq g

(1) (A, (B)-(IV), (O)- (D (D)-(11
(2) (A1), (B)-(D), (Q)-(1I), (D)-(IV
(3)  (A)-(IV), (B)(II), (O)-(I), (D)~(I1L
(4)  (A)-(I), (B)-(IV), (C)-(1), (D)-(L

e

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307211648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WA Tfee St e e, TR @ v s e aee o ¥ fig o e
ERREEE

(1) SR

(2)
(3)

(4) TR

Options :



1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307211648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WA Tfee SFfter e o, Terehret @ v stervar e decide 9 ¥ g 8 e

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307211649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘RS Aifec’ € 93 9YHa: HIv " ?

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307211649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"ardg Tifes’ € G931 YUmd: R0 "Aise ?

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307211650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" qrUATERET Weheedl’ AT ST BT e S0 kel 371E ?

(1) ey

(2) TG IS
(3) Tafeam sEga
(4) Wil YB3k
Options :

1.1

2.2

3.3

4.4

Question Number : 71 Question Id : 53307211650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" qrUaTeREHT Tehedl’ AT ST SIS MTHIaY R0 hel 3T 2

(1) Fmwd

(2) T IS
(3) Tafeam sige
(4) 9IidT YISk

Options :
1.1



2.2
3.3
4.4

Question Number : 72 Question Id : 53307211651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST TeIvATaTEA Hea agAT(T S Tgaia] seed dhell Wifeet a7 form 2o wiger ?
(1) WE. ERHTTH

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307211651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST A TevATaTeA Hed agAT S Tgeia] seee sl Wifeel S foem i ween ?
(1) W BHTCR

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307211652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IeTaig 1S A1 TRIST TR e USE YTE 1 feue S Aiedcian F9 6,
(A) Vg Ty ¥

Question Number : 73 Question Id : 53307211652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WIeTaig TS A1 TRIST TR Siqeror SUsal YTE 1 feme de Aieacian w6 9.



3.3
4.4

Question Number : 74 Question Id : 53307211653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

drerfe TfecaraEdiel T THRHATIR HeHT Tl
(A) drefer wifecy — TR fATsTRT

(B) dialeh Wifecasary — 98d ar9e

(C) drafer Arfecrery g anfor faun - SE9meEr SerfiEr
(D) WUST ATHERTE SUSi= G9E - e e

(E) W Hifecarsi gerea &.fg. g€ — gre arRTe

ereTehl 3T<leh 419 et
(L) (D), (A), (B), (O), (E)
(2 () (E) (A), (B), (D)
(3)  (B), (O, (D), (E), (A)
(4) (A), (B), (D), (), (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 74 Question Id : 53307211653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



drefe TfeearamEdiel T THRATTIR SHerTHs TwEl.
(A) drafTer Fifecd — Ao ARt

(B) Al Tifecan=ny — add S92

(C) drafe Tifecrary o= o7for feum - =gdmeRr serfer
(D) HUST AHEIe STl Y96 — 3 Ieia

(E) 9N Hifecar=i ghea €./<. e - 9= aRTe
gﬁﬂﬁﬁmqﬂhﬁa@:

(1) (D), (A), (B), {C) (E

@ (©), (B) (A), (B), D
@) (B) (©) (D), {E) (A
@) (A) (B), (D) (O) (E

T e e ™

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307211654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST A1 A YRR 99 S Ferda Jeia haial o
(A) ToeT G

(B) @reTeRal

(C) NEL. A

(D) =feU Hd

(E) H&E S
EIeushl 3Tgeh T41g faer
(1) 9= (A), (B) & ()
(2) FFB (A), (C) T (E)
(3) 9= (B), (O) MfT (D)
(4) 9@ (D), (E) 37 (B)

Options :
1.1



2.2
3.3
4.4

Question Number : 75 Question Id : 53307211654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘ST A1 T YRR 99T TR Ferdtal Yeld heiet &S
(A) Tder =i

(B) @reTeRal

(C) ®ILE. AEH

(D) EfeU gd

(E) H&E SR

Yeleidehl 3T=leh 9419 el
(1) @ (A), (B) &1 (C)
(2) @ (A), (C) =nfor (E)
(3) I (B), (C) U (D)
(4) 9 (D), (E) = (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 76 Question Id : 53307211655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Srea Seodl

-1 -1
(A) Taems g () =
(B) g U (1) e arfecnsam
(C) TAfvrErTa TSR (II1)  STOTe SAToT Ao
(D) =Hd 99 (IV) WIfeeaT : gere for =me
gﬁﬂﬁﬁ 3H=lh T faer -

(1) (A1), (B)-(), (©)-(1), (D)-(IV)
(2) (A, (B)-(1), (C)-(IV), (D)-(ID)
(3) (A, (B)-(1), (O)-(), (D)-(IV)
(4) (A, (B)-(1D), (©)-0), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307211655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gﬁ@mw:

Tei-1 -1
(A) Toemd 5T (I) o=
(B) &g U (1) drafTer Arfecnam™
(C) TAfvmErT THTsTER (IT1)  STSTeE Sfo7 A
(D) =Hd =9 (IV) IfEc o « game afor =51
eleTehl 3T<leh aig et

(1) (A)-(ID), (B)-(ILD), (C)-(I), (D)-(IV)

(2)  (A)-(IL), (B)-(I), (C}-(1V), (D)-(I)

() (A)(ID, (B)-1), (O)I), (D)-(IV)

(4)  (A)-(IL), (B)~(1D), (C)-(I), (D)-(IV)
Options :

1.1
2.2



3.3
4.4

Question Number : 77 Question Id : 53307211656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sreal Seodl
-1 -1
( AT ) ( SATATS HTHT)
(A) St el el ()  TSREA 7l
(B) Tigehid dihos (1) SHATGA AU
(C) foreme Tt () TSA F18
(D) HUH FTA (IV) el \e!
Riereh! 3Teeh T41g fHael
() (A1), (B)-(IV), (O)-(I1L), (D)-(L)
(2)  (A)(ID), (B)-(ILD), (C)-(I), (D)-(IV)
(3)  (A)-ID), (B)-(ILD), (C)-(1V), (D)-(D)
(4)  (A)D), (B)-(L), (C)-(IV), (D)-(II)
Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307211656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 -1

( 3TTaTE ) ( 3TaTE W)

(A) i ef el () TSR FEl
(B) wigeRid Uik (I) A AU
(C) faems T (IlI) "B w8
(D) HUH A (IV) STeiga |Ue!
YETeTyshl 3Tl 1A e
() (A1), (B)-(IV), (O)-(), (D)-(I)
(2)  (A)-(ID), (B)-(ILD), (C)-~(I), (D)~(IV)
(@) (A)-1D), (B)-(I1I), (C)-(IV), (D)-(I)
(4)  (A)-D), (B)-(L), (C)-(IV), (D)-(II)

Options :

1.1

2.2

3.3

4.4

Question Number : 78 Question Id : 53307211657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1972 7 I et afer T’ 1 W ufeel G v dfeh T ffed g ?
(1) HeeHER fovg TeHeR
AR o o

Options:
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307211657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



1972 7 T e ' <fea T A weete dfeet G e e weu ffed a2
SdeehER foeg AR

e, fofeg TfereaTe
AT [ SeHER

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307211658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TERTYTET AT S Wardre] S0l T Ficsie Sfgerqumen 79 <d1 39 el ?

(A) Sz e

(B) o Wi
(C) 2

(D) 2Ro3

(E) UK

TR 3Eh T4 fael
(1) a3 (A) o (E)
(2) B (A) @ (C)
(3) s (B) afur (D)
(4) ez (B) 3 (E)
Options:

1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 53307211658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TSI ST S Faraie I 10 STdaien dectaur=n 71 2d1 34 el ?

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307211659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FHAre HTIN=A §: @1 3o RS FGerdl o i oi@ed i ?
(A) @ T HHF

(B)  TFUI=AT WiEER

(C) HEN SEd

(D)

(E) EETaLof

Qe TeTeh! 3Tee qard HereT

(1) 9B (A), (B), (C) nfo1 (D)
(2) e (B), (C), (A) &MU (E)
(3) F@ (C), (B), (A) MfoT (D)
(4) 9B (A), (B), (C) aufUm (D)

Options :



1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307211659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FHATE FATR=A1 §; @i e HSU] FRadl o o™ @ hI0 7
(A) @ T HHF

(B)  TFUI=AT WiEER
(C) HER wHq
(D) I
(E) EETaLof
Qe TeTeh! 3Tee qard HereT
(1) FE (A), (E), (C) #mfo1 (D)
(2) F (B), (Q), (A) MU (E)
(3) @ (C), (E), (A) 31 (D)
(4) 9B (A), (B), (C) aufUm (D)
Options:
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307211660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o e fafay gwepr fasfia geemet o fauft wmfase dam 2
(A) WEWE, Taie, UaR

(B) epTEl, Tore, THToH

(C) &M, UgiH

(D) FAE, FeUH, HIEA

(E) TcTehIHIes, HisHl Hel, T9 FIZHE
Eﬁﬁﬁﬁaﬁl@mﬁa@:

(1) 9= (A), (B) 3TfT (C)

(2) e (B), (D) ST (E)

(3) 9 (C), (D) 3 (E)

(4) 9B (A), (D) ST (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 81 Question Id : 53307211660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘o e fafeay HeRR farfa gdete S fae T g 2
(A) Wewe, qale, UaR

(B) eRTEl, ToHIe, THITH

(C) #&M, U5

(D) FAME, FeUH, FHIEA

(E) ecTehimTes, HieHl Tgl, JH FIeHS
TR e TAE fae

(1) e (A), (B) 37T (C)

(2) e (B), (D) W (E)

(3) e (C), (D) S (E)

(4) e (A), (D) 7T (E)

Options :



1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307211661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

anfeare Tifeca s gferm wfeea i say e fog gr steRfaa s 253 -
(A) SfcarH eiEeRA FomEuly Hiiefcdeh JOmed are,

(B) Hfcamd forgeeren sfeard! Sy Tersie Sl 31,

(O 1 | R At e e R R o e T G 2 R

(D) Hfcarst e Teryd S €, Wi Twsl aferga 2.

(E) sfem Hifecare Sfeaml Qiecwia saade STere el

JeTelieh! 3TeIeh T e
(1) ¥ (A), (B) @ (C)
(2) B (B), (C) A (E)
(8) %9 (C), (D) i (E)
(4) B (A), (C) 3 (D)
Options:

1.1

2.2

3.3

4.4

Question Number : 82 Question Id : 53307211661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



anfeardt Tfecr anfn aferm wfees Fidia aray YEe foig gr ereifaa e 25a -
(A) SfCErHt erEeR FomEi Hiiefcde IO aree,

(B) Hfcamd forgeren snfeardt avenfa Tersia ST 37,

(C) HfEarsl THEeTawR O VA Wi Sfcid o 341 2l

(D) anfeardt Gifeear=t qeyd Ton <, sfwve Tet s g,

(E) gfera Wifee= anfeerd wifecite e e el

JeTeTieh! 3TeIeh T fere
(1) % (A), (B) & (C)

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307211662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

famrres W Aie A9 GRIeTteh! hivren s1sary fauaieh gefem o 2
(A) TIHTRAEA SRR, W0, SEofl Fearesrie e

(B) AR AU WAlhehel VA N9 =IH

(C) ‘TivdkTa Tirchenen’ S0 ‘e Wifeca—afan’ =1 Huieh

(D) Ye-Yell & I e G

(E) SISIR=A1 Hifigeh argAar=a1 TEomsi
YRIeTIeh! 3Teeh Fard HereT

(1) e (A), (B) M1 (D)
(2) 9@ (B), (C) &7 (D)
(3) &= (O), (D) M (E)
(4) &S (A), (C) i (E)

Options :



1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307211662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T Gea A 71 YRieTdeh] vl 19Ty fauansh Hafta o1 ?
(A) THdERTITe SR, IO, St Jeaeietet

(B) AR AU WAlhehel VA N9 =IH

(C) ‘TivdkTa Tirchenen’ S0 ‘e Wifeca—afan’ =1 Huieh

(D) Xe-Yell & Fe SiAreiet FeRrerere

(E) SISIR=A1 Hifigeh argAar=a1 TEomsi
YRIeTIeh! 3Teeh Fard HereT

(1) <95 (A), (B) ST (D)

(2) e (B), (C) &MfoT (D)

(3) = (C), (D) 3T (E)
(4) oS (A), (C) MM (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 84 Question Id : 53307211663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



" Ol FARaR T ST HEA SreeA Yo Te e e e, & o e 7

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307211663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" Wzl G T ST R Sl e 9 ke e aed. | % farm i 7

A), (C) @ (E)
A), (D) 4 (E)
A), (C) & (D)

—

Options :



1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307211664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ofE 9 T orEeRT Jie Wi Siied o ;

Tt-I Tet-11
( () Sorge-m1e foam §ed (1986)
(B) TEIEd FHdl (II) irspeiecd ; 9o oo wHie (1990)
( (
( (

Q) T e [1l) Sorgert aTfor 73 (1985)
D) TITER qIarer IV) Sfergat - WErdars « qH-ad - T JednTe (1980)
TETetueh! 3Tefeh T feren

(L) (AHIV), (BHLL), (CIW, (D)-(1)

(2)  (A)-(I), (B(ID), (C)-(1), (D)-(V)

(3) (A, (B)-(), (CHIV), (D)-(I)

(4)  (A)-(IV), (B)HID), (C)-(I), (D)-(1)
Options
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307211664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



oI 9 T TR JTe I S e

Tet-1 -1l
(A) G TEFAE () SogR-me faam §u (1986)
(B) YEHTEd FHd (II) eFaitec ; iy s gHier (1990)
(€ T4 & (I1l) SorgerT 37T Ja (1985)
(D) TMER YHAmE (IV) Ao - HEgaTE : §H-a - T HeguIH (1980)
Teletueh! el T feren
(1) (AHIV), (B, (C-(1), (D)-[)
(2) (A, (B)-(ID), ©)-(1), (D}-IV)
(3  (AHI, B)-(1), (OHIV), (D)-(I)
(4)  (A)HIV), (B)-D), (C)-{L), (D)-(T)
Options
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307211665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a7 1 R R S 7 e S 9

-l at-II

() <Y SR e, qefan 3
() SR 9 WA GTen <l e 9 T <] a7 3o
() O e it overren st el feef o eerren e 2
(IV) 71 ST e 2, SRR aeam - Ao

A
A)-
A
A

(1D, (8-t (©-V), (D))
(U, (BHIV), (CH(1D, (D)0
(1V), (B)-I), (O-{11), (D))
(D), (BHID, (CH(M), (D)

e e

Options :
1.1
2.2



3.3
4.4

Question Number : 86 Question Id : 53307211665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Felt anfon e Hfefeie R Ao T e e -
-l I
(A) WG FERER () AEH SR T, gef A
(B) @AM () o2 S FeA G < Hle 9 T <l 7 R
() wfa. wm (1) & feom ) o seee el fochl @ o wee g
(D) TR Heau (IV) 791 1A e 2, SfeFeeR aeam l-Hisn
T 3 T e
(1) (AM, B}, (1), (D)-)
() (A)-(I), (BHIV), (CHI), (D)-()
() (A)-1V), (B}, (CHI), (D)-(1)
(4)  (A)-0), (BRI, (CHm), (D)-{V)
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307211666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TeITeR. Aefier Trar Aifecmen * deer fomn’ 31 3o IV el oTe.

(1) .3 FAEUEEHR
(2) =Hd Sl

(3) =fe ge

(4) TufsH =
Options :

1.1

2.2

3.3

4.4



Question Number : 87 Question Id : 53307211666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ToITeR AL 9 Aifecaren * deier fomn’ 314 Sooi vl el 37
(1) .0 AR

(2) aga el
(3) =fge

(4) TufsH 3=
Options :

1.1

2.2

3.3

4.4

Question Number : 88 Question Id : 53307211667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘oA i Hewta s foeh e T Sufeer % ot ang AR Seer e e
10 SR &Te” & 0] 2t o,

(1) @1, e
@ sk
(3) @
(4) A o
Options :

1.1

2.2

3.3
4.4

Question Number : 88 Question Id : 53307211667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o feeraren Wet oo foreeh R T Sufee % foaen g TR Ghee Tee T
10 SR &7 374 I 2 &k,

(1) @1, e

@ zfege

(3) @

(4) A JoHR

Options :

1.1

2.2

3.3
4.4

Question Number : 89 Question Id : 53307211668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STferen Tifecy- G TS STy A T SrEw 2

(1) &2

(2) W@ el
(3)  HI A

(4) HITUER EFIEER
Options :

1.1

2.2

3.3

4.4

Question Number : 89 Question Id : 53307211668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIETITeT Wifecd-HEha 1 AUSR e I YT eiEsh i ?

(1) &t

(2) w.a el

(3) #HT T

(4) HITUER EFIETEN

Options :
1.1



2.2
3.3
4.4

Question Number : 90 Question Id : 53307211669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT, ) HeRCT 3G ekt STORICH ST Zell S AT IV et ?

(1) T ST e

0 zfe g

(3) T A
(4) A Few
Options :

1.1

2.2

3.3
4.4

Question Number : 90 Question Id : 53307211669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT, S HeRCT S ekt SORIC ST 2t Sl AT I et /

(1) 90 ST SaH
@ sk
(3) .
(&) . Fem
Options :

1.1

2.2

3.3
4.4

Question Number : 91 Question Id : 53307211670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



eleTehl 3Tl T fHaet
(1) (A), (B), (D), (E), (C
(2) (B) (O), (A), (D), (E
(3) (D), (E), (B), (A), (C
“4) (A) (©), (D), (B), (E

e e i

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307211670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yl kel IR HFT ;

(A) THITH

(B) dUTERE

(C) d=mA gfed

(D) SrEMba

(E) fager sirea

TEieTyehl 3Teleh Tara faer

(L (A), (B), (D), (E), (C)

(2 (B) (©) (A), (D), (E)
)
)

(@) (D), (B), (B), (A), (C
4) (A), (C), (D), (B), (E
Options :

1.1
2.2



3.3
4.4

Question Number : 92 Question Id : 53307211671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gfed shell SreRi=an Ui hIeldshH arel,
(A) BRfaSH
(B) OiaHA
(C) forarefiery
(D) W fasm
(E) dred gard
ereTdehl 3Tl 419 et
(1) (A), (D), (B), (E), (C)
(2) (A), (B), (), (D), (E)
(3) (B) (A), (D) (C), (E)
4) (©) (D), (B), (A), (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307211671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Gfed el SreRi=an i1 ey e,
(A) =fEsE

(B) iaYA

(C) Terereiiera

(D) W fasm

(E) di<d Yarg

gﬁﬂﬁﬁ 3H=lh I fAaer

(1) (A), (D), (B), (E), (C
(2) (A, (B), (©), (D), (E
(3) (B), (A), (D) (C), (E
@) (©), (D), (B), (A) (E

e e i

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307211672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

{
(B) UEAH YR He Sl e,

(C) UM Tl 31 ST Wi 397 O 2.
(D) U] HR HETHTEATE e .

(E) T TR o T YR F0 21 foat

Options :
1.1



2.2
3.3
4.4

Question Number : 93 Question Id : 53307211672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T, FerRu AT T T e A FTAT B A e i o 7
(A) T T e AT

(B) TS YR He Sereial e,

(C) TG TH S 3T Wi 39 FA 2.

{

{

et S T Fae
(1) %9 (A), (B) & (D)
(2) @ (B), (C) & (D)
(3) d@ (A), (C) 3 (E)
(4) %92 (C), (D) #Afvl (E)
Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 53307211673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TeIfUTETeAT SIehld Sl ST HATT Sfaerd =il forfee ?
(A) T IR
(B) H.IN. TS
(C) 1. =4, e
(D) T e
() fa.&. 9=
gﬁﬂﬁﬁ 3H=lh T faer -
(1) e (B), (O), (D) f (E)
(2) <SS (A), (B), (D) STfUT (E)
(3) e (C), (D), (E) S (A)
(4) B (A), (O), (D) MW (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 94 Question Id : 53307211673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WehITOTETeAT YIdehla WSl argHaT= giderd il fafee ?
(A) T IR

(B) H.IN. TS

(C) 1. =4, hae

(D) Hir g

() fa@. =

Rieiiehl 3Teleh 941g el

(1) 9= (B), (C), (D) o7f (E)
(2) @ (A), (B), (D) WfT (E)
(3) = (C), (D), (B) i (A)
(4) 9B (A), (C), (D) 7w (E)

Options :



1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307211674 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

Streal Sloddl

Tei-1 -1
(A) T 2L () Haafed o 9™
(B) i . Forehuil (II) Headfes sTfo gRfEerdrem=
(Q) L. Tt (1) Haaifes Ao ererdTfes
(D) WEMT AN (IV) Hadfes i sy
eTeTehl 3T<leh T4ig et

(D) (A)-D), (B)-(IIL), (C)-(I), (D)-(IV)
(2)  (A)-1D), (B)-(1), (O)-(), (D)-(IV)
(@) (AHIV), (B)-(D), (C)-(II), (D)-(IT)
(4) (A, (B)-(1V), (O)-(1), (D)-(IT)

A g——

Options:
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307211674 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0



1 eI
(A) T () Haaifes sufor duem
(B) i T Ferehuii (II) Haaes o g
(C) T Tl (IlI) Hadrfes sfor wergie
(D) WS AR (IV) Gaafee 2o =AY
YEieTyehl 3Teeh T4 fHeer
(1) (A)-(I), (B)-(II), (C)-(II), (D)-(IV)
(2 (A)-1D), B)-I), (O)-(I), (D)-(IV)
(3)  (A)-IV), (B)-(D), (C)-(ILD), (D)-(IT)
(4)  (A)-(II), (B)-(1V), (C)-(I), (D)-(IT)
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307211675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ooy Efecarel feeh faeh TR A 21<el Terd: ellred Ao i ol ek e, Feaefedrel
Tl ST fee, S 7 A o el A )

(1) TILawe

(2) YR FERE

(3) e e

(4) T HAe

Options:

1.1

2.2

3.3
4.4

Question Number : 96 Question Id : 53307211675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



oo el ek aiash TR ST A1d HeT: FeraereA TaieRv T:all Hihob i, Fordelra]
TG A fowers, 7 W B S el o /

(1) Tiawe

(2) TR v

(3) e e

(4) AT HA

Options :

1.1

2.2

3.3
4.4

Question Number : 97 Question Id : 53307211676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

{9 1955 A4 feei fost it ‘ores’ & Faderfore someee e g ol ?
(1) Hdre FBH

(2) T EwY
(3) S FHeRHT
(4) foemg wrn
Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307211676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 1955 #eA el fox o ‘vree’ & Fraaehfers shomdea e 9% % ?
(1) S FBHF

2) T EwY
(3) ST HIereeRT
(4) faemg wrn

Options :
1.1



2.2
3.3
4.4

Question Number : 98 Question Id : 53307211677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'] A © NI A S, T 7 S ST o ), % W e o 7
a@—mmm* o T O S el TR
erﬂaw?l

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307211677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"R T & VT S A9, Fergie O T A8 o 7, & 9 9 o el
T AT AT S T I 7 el o

(1) TMER I

(2) Y FAe

B) @WW

@4 <@
Options :
1.1

2.2

3.3
4.4

Question Number : 99 Question Id : 53307211678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



WIS Tl Tl ST TSihd el el enfies g, o g e S aifvre 2, o
ST TS 2RI e o ?

(1) W foge Ty

(2) A, He
(3) S e
W T

Options :

1.1

2.2

3.3

4.4

Question Number : 99 Question Id : 53307211678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YTGToA Sl HITa =i e 2, el effeh e, o Tt Ve ek aifeer g, s
9T vl il el o ?

(1) W foga Ty

(2) A, FRH

(3) O o

W TR

Options:

1.1

2.2

3.3
4.4

Question Number : 100 Question Id : 53307211679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(A) 9.9 @ies =i feeedia Fdre IR 9= M.

(B) dfedt femrel wifecagver.

(C) ‘s@wes’ A1 Aol gfee BTde 3 TR,
(D) ‘I='9 ‘g’ @ sIHIdeETeR T G

(E) oifEe wrda qiem wel difecd aiue=i T
gﬁﬂﬁﬁmqﬂhﬁa@:

(1 (A), (D), (C), (B), (E

) )
2) (A), (D) (©), (E), (B)
(3) (D), (O, (A) (E), (B)

) ) )

4) (D), (O, (E), (A) (B

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307211679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(A) 8.9 @ies g feeedla Fdre &R 92 M.

(B) Hfect ol wifecagver.

(C) ‘srawes’ T Afaderiaesran gfeen Bfe 3iF TR,
(D) “I='9 ‘g’ @ SIHAdeIeER ™ Y.

(E) etfEer wrdra fitem wdl Aifecd aiae=i €.
YeTeTehl 3T<leh Taig et

(L (A) (D), (©), (B), (E)
2) (A), (D), (©), (E), (B)
@) (D) (Q), (A) (E), (B)
) (D) (O, (E), (A) (B)
Options :
1.1

2.2



3.3
4.4

Question Number : 101 Question Id : 53307211680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FAFIERR RfaE TMEe FHT fafede FarEus Sivd ?
(A) =

(B) ot

(C) Fada

(D) T

(E) 3%

TR e T e
(1) 9= (A), (B) &A1for (D)
(2) 9 (B), (C) 3T (D)
(3) A (A), (C) &1 (D)
(4) e (B), (C) 0T (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 101 Question Id : 53307211680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TAFAHR g e g fafediel ForEus Fom ?
(A) =
(B)
(C) FaE
(D) frm
(E) 3=
gﬁﬂﬁﬁ 3H=lh I fHeer
(1) 9e (A), (B) 0T (D)
(2) e (B), (O) U (D)
(3) FEB (A), (C) 30T (D)
(4) 9 (B), (C) T (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 102 Question Id : 53307211681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WTeTeis TS T ARl Headiodl HWid vl R0 Higa Sied ?

(A) SRR TTc HeqHTd THRE Iftd i Serel ChEeedl Teedl.
(B) &N TeBdail YsHe HIITTeh-ikahfash YRS o] &ofel 2l

(C) &N Fda TTHT WIS et e,

(D) %7 & YA Fifawdt T o Tewd S o,

(B) @ o Y foehsiehin &1 S sisiel 3 Sl ql.

JEre e 1A e -

(1) @ (A), (D) 3 (E)

Options :



1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307211681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

eTaig TS FiH1 ARHL Feadedl Hewid hrvrdt Fem wiget aed ?
(A) SRR TTc HeqHTd THRE Iftd i Serel ChEeedl Teedl.
(B) N Fdeil T W Uiapfash SRMMe) el Tote g,

(C) &N Fda TTHT WIS et e,

(D) &4 9 WY Fifawdl Fdid @ Tewrd S 31,

(B) @ o Y foehsiehin &1 S sisiel 3 Sl ql.

JEre e 1A e -

(1) @ (A), (D) 3 (E)

Options:
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307211682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AR SIeehdl Foeled] Hauidrer s 0 =9 Fiean Ay Siea Sosel :
-1 Ha-11

(A) WHERTEId ' SIdeRdl FHIR UaT’ =i T () 1982

(B) Hafedl Ad A= faran | #i= deiTond (I) 1980
M Fesdedqd YRl sitHAT feea

(C) ‘YR forea g’ =i s (I) 1948

(D) 9%g St A HeRTed ufeet i e (IV) 1959
e kol 3107 Ikl o= 5

YTl 3teeh qar et

(1) (AHD), (B)-(IL), (O-(IV), (D)-(IT)

2 (A, (B)-(IV), (C)-(III), (D)-(I)

(3)  (A)-(I), (B)-(I), (O)-(1IV), (D)-(II)

(4) (A)-(IO), (B)-(IV), (OI), (D)-(II)

Options :

1.1

2.2

3.3
4.4

Question Number : 103 Question Id : 53307211682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YR Vaehd] weseled] Hauidial He1 &0 a4 Fi=a1 g Sie Seil
qeli-1 Hlt-11

(A) WHERTEId ' SIdeRdl FHIR UaT’ =i T () 1982

(B) Hafedl Ad A= faran | #i= deiTond (I) 1980
M Fesdedqd YRl sitHAT feea

(C) ‘YR forea g’ =i s (I) 1948

(D) 9%g St A HeRTed ufeet i e (IV) 1959
e kol 3107 Ikl o= 5

YTl 3teeh qar et

(1) (A0, (B)-(I), (C-(1V),

2 (A, (B)-(IV), (C)-(II), (D)-

(3)  (A)-(I), (B)(I), (O)-(IV),

(4) (A, (B)AIV), (OH),

Options :

1.1

2.2

3.3
4.4

Question Number : 104 Question Id : 53307211683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T Hifed Fesdeiiiiel Siiaicd S0 Qifecrdd! e ard el Sed :

-1 -1
(mefror wnfefearah ) (Wt )
(A) 3E Fred [ @
(B) WAL &S (1) el arEes
(C) T Ao (1) yfwer=n
(D) &R TeATE (IV) Hey
YRIeiIehl 3T T4 e
(1) (A)-(0), (B)-(LI), (C-(IV), (D)-(IT)
(2)  (A)-(mm), (B)(I), (CHIV), (D)-(IT)
(3)  (A)-(D), (BRI, (O-(IV), (D))
(4)  (A)-(), (B)(I), (CR(L), (D)-(IV)



Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307211683 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T Hifecd FTeaaidial Sifafcads ST Wifecasd! diedl Irg Siredl S[ool :
-1 -1
(TrdtoT Afefees ) ( et )

(A) 3g Fred [ @
(B) WL @S () ol arEes
(C) Y I (1) yfeern
(D) SRR <A (IV) Hey
QeI 3Tk T fere

(1) (A)-(D), (B)-(IIT), (CHIV), (D)-(II)
(2)  (A)-(Im), (B)-(I), (CH(1IV), (D)-(II)

3)  (A)-(1), (B)-(I), (C)-(IV), (D)-(II)

(4)  (A)-(I), (B)-(T), (C)-(I), (D)-(IV)
Options :

1.1

2.2

3.3

4.4

Question Number : 105 Question Id : 53307211684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Qe & SiE T e dae SRd. T e T Wi o
Yifeara SViageeh T T e fRAdeReen i kel JWT0l Hifeed--Gee Femmeerd el e e
WA e, % faum o &g ?

(1) & 7

(2) AT I

(3) g T

(4) & 99

Options :

1.1

2.2

3.3
4.4

Question Number : 105 Question Id : 53307211684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qe 8 3va A e da YA, T e T Wi o
qifedr SviTagedh T T Tahe fAqencen i el JT0] Sifecd--Seel Fermeerd el @ e
YT e, @ foo el a1l 7

(1) & 7red

(2) A BRI

() g T

(4) 3 9

Options :

1.1

2.2

3.3
4.4

Question Number : 106 Question Id : 53307211685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e HETel form S AIeHeI bl T, 1 Jqehrel e ehuT] o el 1 |
(1) el fea

(2) S T

(3) ) TR

(4) fafefemn e

Options :

1.1

2.2

3.3
4.4

Question Number : 106 Question Id : 53307211685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR STl forIm ST SAIeHgei el T, 1 ehrel e SR o el 1§
(1) it foom

(2) o W

(3) ) TR

(4) Tofefer F=e

Options:

1.1

2.2

3.3
4.4

Question Number : 107 Question Id : 53307211686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T e FAEETa oo 7 TR $eam fom Fm ‘Wl SR 7 et § A o
I

(1) 9 sTe

(2) e eere gt

(3)  clrcrad! e

(4) Aer

Options :

1.1

2.2

3.3
4.4

Question Number : 107 Question Id : 53307211686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T IS FAEETS QTR A TS Feard foam 0w 7l SR 713 Fed’ § SAIHToie o
I

(1) 9 e

() e eeme el

(3)  eircrad! g

(4) ferl @

Options:

1.1

2.2

3.3
4.4

Question Number : 108 Question Id : 53307211687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e, e W el T/ - TR e /S S A T A @ T S o
SfaTel o BT o7 ?

(1) e
(2) 99 TSR
(3) ot o
(

4) G I




Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307211687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e, e T el T/ - TR e /S S A T A @ T G e
anfeare sHfem e o ?

(1) e

(2) 9 TETEH

3) ot v

(4) G R

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307211688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1985 T % SeTed TSt Sfecd e = vfeedn e st A @ o e,

( ()
(D). (E), (
/(E

Options :



1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307211688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1985 T % FeTed] ‘ST STfecd FHerT = Yfeedn Wl SeAeiE A @ % e,

(1) D) (E),
2 ) (E)
) (D) (),
4 () (E)

Options:
1.1
2.2
3.3
4.4

0), (A), ()
Q), ), (A)
B), C)

B), (A)

N — p— —

!
!
F

!

Question Number : 110 Question Id : 53307211689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TV i Hifecd Yelrered s e sfiered fafay syfeer e oiq ?

(A)  Tef T} A= fomie SR o 3R FRE gie T,

B) e el S ARG fervartTae] eeT ltemet e S0e e

(C) % ] S| FEVIEAY 19 k] Wieen IHe0 qReH Feaven 7 o
feen T

(D) ST TaT) SR TS Tgil S

(E) i) S € sl 34 el

WWWW:

(1) 9 (), (B) & (C)

(2) 9 (), C) M (E)

() @ (A), D)

(&) = (A) (B) A (E)

Options :
1.1
2.2
3.3
4.4

(
A

Question Number : 110 Question Id : 53307211689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TV i Hifecd Yelrered s e sfiered fafay syfeer e oiq ?

(A)  Tef T} A= fomie SR o 3R FRE gie T,

B) e el S ARG fervartTae] eeT ltemet e S0e e

(C) % ] S| FEVIEAY 19 k] Wieen IHe0 qReH Feaven 7 o
feen T

(D) ST TaT) SR TS Tgil S

(E) i) S € sl 34 el

WWWW:

(1) 9 (), (B) & (C)

(2) 9 (), C) M (E)

() @ (A), D)

(&) = (A) (B) A (E)

Options :
1.1
2.2
3.3
4.4

(
A

Question Number : 111 Question Id : 53307211690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T3 Wieea 1970 e Fim et T Tfect Yaereh Qe afTeS IO e el ?
(A) T VeI GaeTedl TS| Seehiel geh T el
B) fecaftflt! aRian WIS YR Wewrd A,

(C) 1 T et RN HE &S 1 Flad el elle A A AT T HDYE e
i}

(D) T 5@ Jole For SRR §ol el A e,

() e S RfE SOOI T 7 A e e faR Aevae 2 Hed.
WWWW:

(1) @ (A), (C) & D)

Q) @ (A),(C) M E)
() %@ (A), (B) A (D)
(&) %@ (A), (B) & ()

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307211690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T3 Wieea 1970 e Fim et T Tfect Yaereh Qe afTeS IO e el ?
(A) T VeI GaeTedl TS| Seehiel geh T el
B) fecaftflt! aRian WIS YR Wewrd A,

(C) 1 1 el SO HFA A% T HaAd e Yollg A A S e FRRG e
il

(D) T 5@ Jole For SRR §ol el A e,

() e S RfE SOOI T 7 A e e faR Aevae 2 Hed.
WWWW@I:

(1) @ (A), (C) 4 (D)

Q) %@ (4),(C) M (E)
(3) 9@ (A), (B) & (D)
(&) %@ (A), (B) & ()

Options :
1.1
2.2
3.3
4.4

(B) & (
(B) & (

Question Number : 112 Question Id : 53307211691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9% YA A1 hellahdl A0 e GeRIeH =Y Fi=41 A1y Siredl e ;

gat-1 g1

( TS UTeA A=A Helhel ) ( TeRTYT o )
(A) = (I) 1986
(B) SasH (I) 1980
(C) TF W &E (Iy 1975
(D) oISt & S Ol (IV) 1982
RIeAU! T=® T e

(1) (A)-(I), (B)-(ID, (©)-1), (D)-{IV)
(2) (A, (B)-(I), (C)-(I), (D)-(IV)
(3)  (A)-(I), (B)-(IV), (O)-(I), (D)-(D)
@) (A, (B)-(ID, (O)-1V), (D)-[0)



Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307211691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1% q1ed Jiea] shefiehd! A0 e YehRH a9 A7=41 A1y Sre Sl

Telt-1 eft-11
( WIS UTed AT Shetrahdr ) ( URTIT o )
(A) eI (I) 1986
(B) SadsH (I) 1980
(C) Tk g &E (I1) 1975
(D) oSt & S o &t (IV) 1982
YRl 3Tgeh TaTg e
(1) (A)-(Im), (B)-(1D), (O)-(), (D)-(IV)
(2)  (A)-(I), (B)-(I), (C)-(II), (D)-(IV)
(3)  (A)-(Im), (B)-(1V), (C)-(11), (D)-(I)
4) (A)-(I), (B)-(1D), (O)-(IV), (D)-(I)
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307211692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



791 STIOT TR = A1y e Sel

-1 GE-11
(TeT) ( AT )
(A) ST TR () HIereE greHt
(B) EUTERTH Hrel (I) e e
(C) eraE=an sreanfi () o SIS
(D) @TTEIEc= T (IV) a1 HaTesHt
RieTeh! 3TEeh Ta1g el

(L) (AIV), (B)-(IIL), (O)-(11), (D)-(1)
(2)  (A)D), (B)-(IL), (C}-(1IV), (D)-(IT)
(3)  (A)-(ID), (B)-(ID, [©O)-(1V), (D)-([)
(4) (A0, (B)-(I), (O)-(1), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307211692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el A0 YRR T2 A1 Sirsa Segl
-1 gei-11

(uer) ( UgHTT )
(A) ST AT () HIedEE SfgeH
(B) EIUTEHTH HEAl (I) 3 e
(C) orIame=an sTaavil () Gary STTSH
(D) @TeTEIfEcr= Tl (IV) a1 YaTeshl
Eﬁﬂﬂ‘qﬁ 3T<h 41 e
(D (A)-IV), (B)-(IIT), (O)-(1I), (D)-(D)
(2)  (A)AD, (B)-(II), (C)(IV), (D)-(IT)
(3) (A1), (B)-(D), (O)-IV), (D)-(I)
4)  (A)-D), (B)-(LI), (C)-(II), (D)-(IV)



Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307211693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fagrd o e anfagised: wg=d |

7H AT Snemfafend ||
o FIREN 0T SHTeHALT0= |1l Bl ?
(1) g
(2) 3
(3) faeE
(4) T=Td

Options :

1.1

2.2

3.3

4.4

Question Number : 114 Question Id : 53307211693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fased 9 Fen anfagised: 99 |

RERGUICIEEIREs R S B R el
o FIREN 0T SHTHALTO= |1 Bral ?
(1) A
(2) 9
(3) sfaeE
(4) T
Options :
1.1
2.2
3.3

4.4



Question Number : 115 Question Id : 53307211694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et s T FAYE TR W STt e N Wi A die Sl A
9ed !

A) S st e e -

B) fd W Wt e W

C) W I i : ST TeTge ol W I e el T

D) T WEWe il e T

() W2 Ftew ahai « ST TRrEe T F W o e 7

(
(
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307211694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



oS T A e e SV R, @ e A e e e
#ea ?

(A) i o= el e -

(B) 7 W Well S e :

(C) TRV TSt KA + anfon TeEsR W A e wen e
(D) A e gt e i -

() v e o « onfon versye et m T forie o g
WWWW@I:

(1) A (A), (B) & (O

Q) % (), (D) A (E)

() @ (A), () A B

(&) %@ (A), () @ C)

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307211695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fag TR Frve = TSETe Ud A S W S @ U
(A) TIRRTY HATS HSY THEFS TRTE =i Tsranesi feet 2w,
(B) USUITIel ekl W TSTATSHIAT TTada il

(C) ¥k 1925 &1 THareft 2.

(D) 91 1875 & Terge aidl, I 1880 T WeRIF et

(E) 9% 1831 HeA U9 e,
RIcTIehl 3Teleh A feel

(1) e (A), (B) #foT (C)

(2) FFE (A), (©) 3 (E)

(3) A (A), (B) M (D)

(4) 9 (B), (C) M (E)



Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307211695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fagATaTaR  Frved = TSETe Ua RUH S Wi S & ud
(A) TR HSTS WY THFS TR FiHT Tstemesi feetl 2.
(B) U3vUITIel Weh1 WaTd TSTATSiT TTada el

(C) W 1925 & foareft 2.

(D) 91 1875 & Tergelt aidl, I 1880 d WeRTewd e,

(E) 9% 1831 W3 Wehifora Sed,

R IeTIeh! 3Teleh 7419 faret

(1) = (A), (B) &fT (C)

(2) F9@ (A), (O) =M (E)

(3) @ (A), (B) =MfUT (D)

(4) e (B), (C) 0T (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 117 Question Id : 53307211696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ta R I fre guEsa v e 2l ?
(A) TreprEmrg fide e
(B) THYSIHZ AT
(C)  sirEarH
(D) STA=HIA
(E) TR Helled
gﬁﬂﬁﬁ 3H=lh I fAaer
(1) @e (B), (C) «0for (D)
(2) e (C), (D) S0 (E)
(3) FEe (A), (B) U (E)
(4) I (A), (B) 30T (C)
Options :
1.1
2.2

3.3
4.4

Question Number : 117 Question Id : 53307211696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ta R I fre guEsa v e 2l ?
(A) TR fideiea
(B) THYSRINZ ATHICTIERT
(C) e

(D) SA=HIA

(E) TITRIH Helles

Rieiiehl 3Teleh 941g el
(1) 9= (B), (C) M1 (D)
(2) 9@ (C), (D) ST (E)
(3) 9B (A), (B) ST (E)
(4) F9B (A), (B) S (C)

Options :



1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 53307211697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y., s T Wl W0e T 3 et e - o i e’ e
g e !

(E) % Wl o

e g T fe
(1) 2 (A) 4 (C)
(2) e (A) enfm (B)

(3) s (B) A (E)

(4) = () 4fm (D)
Options:

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 53307211697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Y., T2 AT W WS T ) HagaR - 9 e anee e
Geril i

(A) T T

(B) feeviiega ey

(C) HeHA e B

(D) ot fofrrs g e

(E) T3 Wl o

WW@WW

(1) @ (4) 3 (O

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307211698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



" 1 WA S 2 T S fefecien 7 O el e TR R 7 A e
9 9T, A

(A) e TR §IH ST T,

(B)  F TfHY T SR <.

(C)  feT =R HegFa ST T U FIAVA .

(D) " T §&d A A GH W .

(E) a1 O HYTOE S9N <.

WWWW

(1) @ (A) #i (O

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307211698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



" VA e S 1 e e ffectd 4 TeR T BN TR AR B A 1 AT,
Gt A G G

(A) e TR §IH ST T,

(B) 1 T W SR A

(C) feeT =R & U R S i A,
(D) " T §&d A A GH W .
(E) AR FOI ST SR <.
WWWW@I:

(1) @ (A) #i (O

Q) %@ D) 4 g
() @ (C) 4 (B
(&) 2 (A) A (B)

Options :
1.1
2.2
3.3
4.4

El
El

Question Number : 120 Question Id : 53307211699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(A) . A3 e 7 Faied e,

B), (C), (E) & (D)
A), (D), (B) T (C)
A), (D), (E) & (C)



Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307211699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A) A AR a7 Fed et

D) ‘e e’
E) W Werel Yo §afed seret
VEREED A T e
(1) a3 (A), (C), (B) A (D)
() %@ (B), (C), (E) fm (D)
(3) %A% (A), (D), (B) & (C)
(4) A% (A), (D), () & ()

Options :

1.1

2.2

3.3

4.4

Question Number : 121 Question Id : 53307211700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o § oI 1Y oiEd A= HIes S e

Tefl-1 a1
(A) UUEd e (I)  |aUeAl SrhTdie i s
(B) Fexkul ek T () |9 GRNH
(C) WYL T Sl (IIT)  refen e
(D) foga a9 TYeHT (IV) Aifsror forediis ‘ foresfemamot
QEleTIeh! 3Teeh TaT e :

(1) (A, BHID, (C)-(0), (D)-(IV)
(2) (A, (B)-(I), (O)-I), (D)-(IV)
(3)  (A)-(IV), (BH(IL), (C)-(1D), (D)-(T)
(4)  (A)-(D), (B}-(I), (C)-(Im), (D)-(IV)
Options :

1.1

2.2

3.3

4.4

Question Number : 121 Question Id : 53307211700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oi@eh d iH U oiEd dre Hide Sireul Sel
Tll-1 a1
(A) UVEd HEEH ()  HaUeA1 SrhTdre ik s
(B) FeHUl AR THAIY (I) |99 GERH
(C) YR THErH Sl (IIT)  =Freren sere &
(D) fogel aT9 GYeErs (1V)  difsror foreaier * forarerfamamoft’
P REEIR P RIRAECE

(1) (A, (B)-(IT), (C)-(), (D)-(V)
(2)  (A)-D), (B)-0), (O-(), (D)-(IV)
(3)  (A)-(IV), (BIHIL), (C)-(1D), (D)-(I)
(4) (A1), (B)-(1), (O-(L), (D)-(IV)
Options :

1.1

2.2



3.3
4.4

Question Number : 122 Question Id : 53307211701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oiEeh 9 o Y diel Qi e Sedl ;
ei-1 gL-11
(A) TN 3 kT TRt () wrEEfEsT= €9
(B) M 9FTEd (I) e (Hae)
(C) . S (L) TSR (H9rEA)
(D) W7, B (IV) 9T=i 7 9UeR (F98H)
REREEIR EC R RIRAREE
(1) (AL, (B)-(I), (C)-(IV), (D)(ILI)
@) (AD), (B)-(IT), (C)-(II), (D)-(IV)
(3) (A1), (B)-(IV), (C)-(ID), (D)-(I)
@) (AHIV), (BHII), (CO)-(ID), (D)-(1)
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307211701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



orEeh 9 i U9 Aiel Qi S Se

Tefl-1 qei-11
(A) TN 3 ek TR () wrFEfecT= €9
(B) M wFTe (1) e (FareA)
(C) . S (L) ToTSRTYT (e )
(D) W7, TP (IV) 9= i 9UeR (F9<H)
YRTeTht g Ta e
(1) (AMID, (B)-(D), (O)-(IV), (D)«(II)
2 (A-D), (B)-(IT), (O)-(Im), (D)-(IV)
(3) (A1), (B)-(IV), (O)-(ID), (D)-(I)
4 (A-IV), (B(II), (C)-(ID), (D)-(I)
Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307211702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R G B o B B R e R | R o R 2 R e R 2
o, 71 ek Yo Eeiteeh! el T ol ST,

(1) ¥

Q) FEe

(3) il

(4) T

Options:
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307211702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T fe o ¢ 9 e B e N Wk v ofen ¢ U die <fae ; e <fget ; wh e
St 1 SRR WHeH e S0 R S e,

(1) e

2)
3)

@ T
() TR
(@) v
Options :
1.1
2.2
3.3

4.4

Question Number : 124 Question Id : 53307211703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wfeared st anfin 2feemaTel Hieaersh Feardiel TOER HalY e FHE Tt e S S,
(1) wiEpes e

Options:
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307211703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

B e e 2 et e e o e e ot e
(1) wiEpe gt

Options :
1.1



2.2
3.3
4.4

Question Number : 125 Question Id : 53307211704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"TEHIT T 91 F HCqa SeTio SR o fafime g 3 fafime i defet W Fored
TRV HYEY Hifeed &, € e il okl

(1) ez e
() ®E T
(3) TR T
(4) TR MEE
Options:

1.1

2.2

3.3
4.4

Question Number : 125 Question Id : 53307211704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR T 21 T e SR ST o fafire gt 9 fafire fidl et wew o
TR FUTEY Hlecd 2, 7 e il e

(1) ez e
() Y T
(3) TR TR
(4) TR MEE
Options :

1.1

2.2

3.3
4.4

Question Number : 126 Question Id : 53307211705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘e a1 Safa shTed Y ST, 3T IV e SR

(1) Tagen
(2) A

(3) FaH

(4) wE<H
Options :

1.1

2.2

3.3

4.4

Question Number : 126 Question Id : 53307211705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘317 37el Safau ke AT S, 3T FIUT B A%

(1) favaTy
(2) A

(3) FH

(4) SHEE
Options:

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 53307211706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(A) T - R, B, FEv, U5, Wa-E, S 2.
(B) HuWl /==l wiE — e, TelHl, Wie S T,
(C) T — YR, FIfaqorme, Imeiy .
(D) sifsa — erifiTe, anferek, e, dife s,
(E) WIHT — ohf¥ehl, 3R, ¥4, Gt 3.
gﬁﬂﬁﬁ 3H=lh I fAaer
(1) <9e (E), (B) @Mfm (C)
(2) 9B (B), (C) T (E)
(3) @e (D), (C) =fur (E)
(4) B (A), (B) T (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 127 Question Id : 53307211706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(A) T - HR, T, 8, g, YaHE, 99 3.
(B) HHWl /=AW=l e — e, TelrHl, i 319 2.
(C) M — R, ST, Irei 3.

(D) #fa - arifirs, anfes, e, Tifers &

(E) WeIwit — <hf¥rehl, 3IWE, o4, gt 2.

Rieiiehl 3Teleh 941g el

(1) <9 (E), (B) @M1 (C)

(2) %9 (B), (C) MM (E)

(3) @ (D), (C) 3 (E)

(4) F9@ (A), (B) &1 (D)

Options :



1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307211707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hedl s1for ArEwA ! Afawd 9 faurs v faen
WW&WWW@WEWWW

qrfereR i Wifefcass T © Hiehfas T 794
E) STEwHaN Headid e Ay | foskd.
e 3 T e

(1) 9@ (A), (B) <M (E)

(2) ¥ (B), (C), (D) &M (E)

(3) FB (A), (C), (D) & (E)

(4) 9@ (A), (B) &7 (D)

(A)

(

(C) Wfecar=al sidardra S&hdl Saud Yidfes gSd 374d.
(D)

(

Options:
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307211707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



S A AR TR A A e e e

Jereiieh 2Tk T fere

(1) 9 (A), (B) &M (E)

(2) %9 (B), (C), (D) i (E)
(3) FHe (A), (O), (D) @ (E)
(4) FAS (A), (B) 3T (D)
Options :

1.1

2.2

3.3
4.4

Question Number : 129 Question Id : 53307211708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wrefiel d=1fves ey geia e srpr=n #um o

(a) TF F@H (b)) T HeHIS () oY g
(d) o urEd ()  YHeE e
(A)  yewmiee wE aere
(B) WERI=IIH HaHgad FH
(

(

(



Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307211708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wete Saies feiy e e seri=n #0H @,
(@ TF FEH (b)) I TEEAS () I SEga
(d) oTad uEEd () HFWE e
(A) SHARTE T8 aRTS
(B) WENI®IgH HaHgod FH
(C) 7O SHTENfTeRTeRTOT
(D) Y& YR THISEHER
(E) snfysiifass s st
EEREEIR P C R RIRREEE]
(1) (B), (D), (), (A), (E)
2 (A) (©), (D), (B), (E)
(3) (C) (D), (A) (B), (E)
4) (D), (E), (A), (B), ()
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307211709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Grcfel T WehR S0 oA T died] A el e ;

eI TE-11
(A) e (1) & e oo foreert erge|
TSI Teell oel JEri a1 |
(B) &l (1) ororan o T e | el FOR 2T
KU LT | el THAH A7 |
(C) arav (II) Feaehell e STl <o : @ B viok « e ||
ST SR | el AR e : @l el o1 : e ||
(D) d@reT (IV) feret Heres o108 At |
HEHE HEHE Ve SIS el el ||
AT 3 T4 fae

(D) (A, BHLV), (O, (D)-(0)
(&) (AHIV), (B, (C)-(1), (D)«IL)
(3) (A, B)-(), ©)-(), (D}-(IV)
(4) (WD), (B, (C-(1V), (D)-(I)

Options :

1.1

2.2

3.3

4.4

Question Number : 130 Question Id : 53307211709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Grcfel T WehR S0 oA T died] A el e ;

eI TE-11
(A) e (1) & e oo foreert erge|
TSI Teell oel JEri a1 |
(B) &l (1) ororan o T e | el FOR 2T
KU LT | el THAH A7 |
(C) arav (II) Feaehell e STl <o : @ B viok « e ||
gITAfel 3T | e AR € : @i et e ; i 1)
(D) d@reT (IV) feret Heres o108 At |
HEHE HEHE Ve SIS el el ||
AT 3 T4 fae

(D) (A, BHLV), (O, (D)-(0)
(&) (AHIV), (B, (C)-(1), (D)«IL)
(3) (A, B)-(), ©)-(), (D}-(IV)
(4) (WD), (B, (C-(1V), (D)-(I)

Options :

1.1

2.2

3.3

4.4

Question Number : 131 Question Id : 53307211710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BIeATel T ST st fafia s &3 aie 914 S o

Tal-1 L1
(A) 3= TehrE T () waAaedd A9 U
B) iy (I) et A=A
(C) U IR (II) FeTErde SHadre STeTar
(D) @90 & foepe a2 (IV) TEFH e
JereTieh 2Teleh T fere
(1) (A)-(), (B)<(I), (CHIV), (D)-(II)
(2 (A)-IV), (B)(ID), (O)-(I), (D))
(3)  (A)-(ID), (B)-(1), (O-(IV), (D))
(4)  (A)-(1), (B)-(ILT), (C(IV), (D)-(IT)
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307211710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BT SHAR S0 A= Fafd Ferel & = 47 S e ;

-1 gt
(A) 3 T T () wEAAEdd A9 9
(B) fafarTy () =aTedr ST
(C) o= TR (Ill) FeTEde SR s
(D) i & foee & (IV) TEEr e
JeleTieh 3Teleh T fere
(1) (A)-(), (B)<(I), (CHIV), (D)-(II)
(2)  (A)-(IV), (B)-(I), (C)-(I), (D)-(II)
(3) (A1, B)-(), (O-(IV), (D))
(4)  (A)-(1), (B)-(ILD), (C(IV), (D)-(IT)
Options :
1.1

2.2



3.3
4.4

Question Number : 132 Question Id : 53307211711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

', O T e R, e W WO, U e A e, WA U e, ' @ A

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307211711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R 1 B e e G R 3 e L e R O o1

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307211712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A e A S it 1 H T e 9 RO B F9A, 66 ARG He R
e T 43 TacIaTa YIeehie) AT e Fffe, 1 Sosmes Seer el o /

(1) e ST e ¥
2) T G e T
) e S

4) T TS .

Options :
1.1
2.2
3.3
4.4

(
(
(

Question Number : 133 Question Id : 53307211712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A AR A1 AT ce 3 A F A AR A0 9, 6 A 99 R
e T 35 feraramer YIaehiel T e Wifered, o1 el Seetd STl 47 7

(1) e ST e ¥
2) R G e T
) e ST o

4) T AR |

Options:
1.1
2.2
3.3
4.4

(
(
(

Question Number : 134 Question Id : 53307211713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'St FUTRRIE 7 9 0 eI S9el TR SRl aee e i TEE S
92 T S TG I T Tl e Fearde 49 et /

(1) e

Q =
()
(

3
4) T



Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307211713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S FUTETRIIG @ 9 HA SIS Sl HUTGH SIerenl e et v Teg e
wwaﬁw@ﬁﬁmwﬁﬂmwmm?
(1

)

o W
B w
(4) e
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307211714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

4 TR SIoT i AT T Foured S1a-Rraell Teheval i) e qra o /
et a1 et e frdh e

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307211714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



0 TR SIoT i AT T Fomreh S1a-Rraell Teheval i e qrga o /
(1) ST a1 el | ve el e

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307211715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GUHE sEd= Hiedsharan feeeaadi=a =fEndie geqi=n sH .
(A) Tomarsien gefHvaa

(B) MG =M

(C) acd! shelrsl el

(D) dTSit ¥ %A FHEarsit Al

(E) el hisho FHTeils

Ereeh! 3Tgeh Ay fHaer
(1) (A), (B), (©), (D), (E)
2 (©) (A), (B), (D), (E)
@) (©) (A) (B), (E), (D)
@) (A), (B) (©), (E), (D)

Options:

1.1

2.2

3.3

4.4

Question Number : 136 Question Id : 53307211715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FUEE T GieasraraR Resaudi=a afemdie e &9 o,

(A) TorETsi=n =g

(B) G =M

(C) Tacd! ShTelrst sl

(D) TSl G HEA FHearsit gl
(E) el ik SRS

Eﬁﬁﬁﬁ 31<leh T e

(1) (A), (B), (©), (D), (E)
2 (©). (A), (B), (D), (E)
3) () (A) (B), E), (D)
@) (A), (B), (O), [E), (D)
Options :

1.1

2.2

3.3
4.4

Question Number : 137 Question Id : 53307211716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(R R 22 e e o R o e L R e e e R o

Options :
1.1



2.2
3.3
4.4

Question Number : 137 Question Id : 53307211716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fe . wirepret e * sTTesiat " A HicEia ERTCTIsH! I S TH U F e /
A) TE HIETATH STHREE Faiare A9 et T,
B) e e T A,

EEREEIRE R RIRAREEE
(1) e (A), (B) 4T (C)
(2) %9 (4), (B) M (E)
(3) % (A), (D) 3 (E)
(&) %9 (4), (C) @ (E)
Options :

1.1

2.2

3.3

4.4

Question Number : 138 Question Id : 53307211717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TS} A1 i A T SR A ] R o HE a6 G e T
frere

(A) TFaTa 9 70 T oTE,

(B) e 10 I G AR Hel T e,

(C) g FHEA Telt it i St 33 TR .

(D) SR T WG eTett WV SFRRGTEN e At JTae gl SRTae)
() T Tl ] I AT Hed el

WWWW:

(1) @ (B), (D) f (E)

Q) %@ @) (C) M E)

() o (A), (B) &M ()

(@) %@ (A), (C) & E)

Options :
1.1
2.2
3.3
4.4

)
)

Question Number : 138 Question Id : 53307211717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TS} A1 i A T SR A ] R o HE a6 G e T
frere

(A) TFaTa 9 70 T oTE,

(B) e 10 I G AR Hel T e,

(C) e T ) el o et A T .

(D) SR T WG eTett WV SFRRGTEN e At JTae gl SRTae)
() T Tl ] I AT Hed el

WWWW@I:

(1) 9 (B), (D) 4 (E)

Q) %@ @) (C) M E)

() o (A), (B) &M ()

(@) %@ (A), (C) & E)

Options :
1.1
2.2
3.3
4.4

)
)

Question Number : 139 Question Id : 53307211718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" effear=Ia Wehieh1’ offt sAfa Sfon e aftey e A o1 S e

ERECIR CC R RRECEIE

(1) (A1), (B)-(IV), (C)-(), (D)-(1M)
(2) (A, (B)-1), (O, (D)-(IV)
(3)  (A)-(1D), (B)-(ID), (C)-(IV), (D)-(1)
4) (AL, (B)-1), (O)-(IV), (D)-(1MI)



Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307211718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sfeerafts e et SAfaam snfor @ren aftea wren 4 & e e

Tit-1 Teit-11
(=afem =) (uftea)
(A) WIEREHR () e SR e feere T
(B) TEHMINICH () =RYT dfeet foe Heve
(C) Wi (1) ‘wieEafE’ a1 TUw Ueh GessiaThr
(D) THIETEE (V) HrEeaweiEn fore, s qe Thutise S
PERECIR P e R RAEEEY
(1) (A, (B)-IV), (C)-(), (D)-(L)
(2) (A1), (B)-I), (OHL), (D)-(IV)
(3)  (A)-(1I), (B)-(LD), (C)-(IV), (D)-(I)
4)  (A)(ID), (B)-[0), (O)-(IV), (D)-(1MI)
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307211719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"SISO = SR SIes ST STeated AT Ay e el

Tl-1 -1
(A) = () <ER
(B) TARH (II) Hew
(C) HETe (IlI) 9q%
(D) HSH (IV) H*He
ga‘laﬁﬁamﬁvq’i"qﬁaa:

(1) (A)-(IV), (B)-(1D), (C)-(I1D), (D)-()
(2) (A1), (B)-(ID), (©O)-{), (D)-(IV)
(3) (A, (B)-(I), (©)-IV), (D)-(I)
(4) (A)IV), (B)-(IIL), (C)-(1D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307211719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" ST =T SR Yieg ST Yeaed A=Al ANy el Ses

Tei-1 -1
(A) R () <ER
(B) TARH (II) Hew
(C) =HTe (1) |9z
(D) HIAH (IV) Eehe
YeleTehl 3Tl aTg et

(D (A1), (B)(1D), (CO)-(1D), (D)-(D)
(2)  (A)-(1D), (B)-(111), (©)-(), (D)-(IV)
() (A, (B)-(), (©O)-IV), (D)-(I)
(4) (A)HIV), (B)-(IIL), (C)-(IT), (D)-(I)

Options :
1.1
2.2



3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 533072459
Question Shuffling Allowed : No

Question Id : 53307211720 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

e TR, Sesard arel, e SeTeTen Ure Yy weih S for ;

e @ 2 49 i, e Sff, T oAl e ) 2 e Heher et SR,
) Heklle ) 7 o o 9 AT 0T fohe el o G R & o, it ek e A
AR & el TG iehTeA] i o, At o) eh Tanied] At §ayial Sean
e, T, O YR, i, S, T, TR & o e Rl S YRl el i, Wig o
o] S B 7, i & WA feben safromeRiTe S VR T ol ATEAe e fof
(vividness) TTEd 71d. Tt chefas YT febel SHfoaairan Tk T WA IO, WUTd ol Yl ek
TRV 0 T, 57 et o1 ATvoari T el S S A, AeATR e Tt B, B
e fo I & ciet 1o 4, il i oA H9id Fie F1oa Yo ol (3o, ‘el Tt
Ve, S, TR e ); Y A e e o T TR,

Sub questions

Question Number : 141 Question Id : 53307211721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR I esdrd el ?
(1) <59 94 F=AER HE G FE AN,

(2) e eI S e SR STE.
(3)  Ycrehi=a1 IR=EME o 39geR STl

(4) o fodt=n 9fea e <am.

Options :

1.1

2.2

3.3

4.4



Question Number : 142 Question Id : 53307211722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR T FS FHS SR ?

(1)  39d egra Jfor FesmE ferdia.
(2) A Feqdd AU ZeEliich Het.
(3)  WTIforhRTd SAfOT S0 sHodHia.
(4)  EETIOTE SO0 ST e,
Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 53307211723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

etk ‘eteh | WEUA 1 3T AR 7

(1) S ITERTa a9 - JEI AT

(2) AfyeTeRiT=a TaT YehiAT [ohed dodl SYAIfSIedTos
(3) TR Hichfdes SMedres

(4) WdisRidTe TesERTe s Heanes

Options :

1.1

2.2

3.3
4.4

Question Number : 144 Question Id : 53307211724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) o @R w2, 919, foFm;

(2) ERF, YUK, a;
(3) ©E, YIS;
(4) T, TOTC= FoRT9;

Options :



1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307211725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST Ta L Rl Hdrd ?

(1) Hohd Z/Rdl 7 HATAH

(2) SR Hichfde STearHaL

(3) AT SETTUT AL

(4) el W™ Wad Al Jdid searHa.
Options :

1.1

2.2

3.3

4.4

Question Id : 53307211720 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

eIt UTIE Faia o, Tt SMeTered Urd Fyre W 3 ford

Ter ¢ 21 40 Terd. et 1o, T STeNTal TG 371 ) foafeqd Hehale, SMHTCrer S,
) Heklle 11 74 b o 9 1T T fofel el ol et 0 & o, fecd el e e
SR & Hebrl, TG iehTeA] G o, Al o) eh anied] SAaeriare Gayie sean
S, WO, JORira JeBr, 7a, e, T, TS @ Hioia Seae) S e el Jaidh, §q a0
(vividness) 9 71d. Tt chefes TN febell SAfeakiran Wk T TV loRee, TR o Yl ek
TRV 3 A, S et v T e S e 40, e e ke e, #ata
e fomm ¥ Tt fou 20, et @ i 1ol Fiet Ffoia vt 2 (e, ‘e &R
veFmd ', wie, T, s, ); Y S e e o H TR,

Sub questions

Question Number : 141 Question Id : 53307211721 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

G o1 2TeEdTd e ?

(1) <3 d 99 ArAGN H1E ot FUd AT,

) SieATEl SATERINGE 31 ey STHReTe ST
(3) YdreRr=A1 YA o 39ge STdld.

) 4 fesmE forden oftee e gam.

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307211722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ytk S FS T S0Ed 7

(1)  3d Fegra aafor FesmE fordia.
(2) A SHUAd SO SRR Hel .
(3)  WTIforhRTd SAfOT S0 sHodHia.
(4)  EETIOTE SO0 ST e,
Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 53307211723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tk ‘eieh | TEUH 1 ST AR 7

(1) sifvereRila eIy TE SERgo edros

(2) AfeTRIT=A SaT YeRTCHT qohos Soal SYATfoTeaes
(3) wAfeERT ikfaER FeATe

(4) wdteRide FersERIicT g Seares

Options :
1.1



2.2
3.3
4.4

Question Number : 144 Question Id : 53307211724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Feled] Shiadid shele Edd sdfade Udrd aid.
(1) 1 @R Y2, 9, fF;

(2) RF, YUK, Ad;
(3) R, HTSIe;

(4) TS, JOTCr= HERT;
Options :

1.1

2.2

3.3

4.4

Question Number : 145 Question Id : 53307211725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AfveaRdten e SR T Ia ?

(1) Hohd ZrahRdl A A,

(2) AT eTeRT Hickfas AR

(3) AT ETION ACHHIL

(4) ol T s Al Yald Sedr.

Options:

1.1

2.2

3.3

4.4

Sub-Section Number : 3

Sub-Section Id : 533072460
Question Shuffling Allowed : No

Question Id : 53307211726 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)



Question Label : Comprehension

TETe T, ey arel, e HMTeled Wre yaret e T fore

oA Y- el e §Ue AT AIETG agerd 9 e (e s few,
TV T AT S ol el o FGah Sfecare SeherTa Wewequl A e, T 1 6l Jae
iR i el A b et e e e e et e e B
3 U TR A T RIS 0T Al T e, o 3 FTEe Ware Sferd Ghaiom
VA TR A S ST S, A S W W SR A 2w e
et et ) FeR TEO S SToe Wefavare W . e Fie W Y T O
G 31 e g o e o B R e R A e e e e 2 A
ViR, AR T S e, TeH SRR Sfeer Y vl e S SN
e YT AT I ST S e, e WA s 21 S e S e
Sfoerm areiifi e @ A o A1 S MeAETs M S ST S ane

Sub questions

Question Number : 146 Question Id : 53307211727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS ST WehR Hewaqul Waet el 7

(1) T9ell Tvaradgd faeshfad el

(2) Sieii= e 9 Wi e Hehed el
(3) SFETEH T Hew ST,

(4) Uferas TWwE e STHH He.
Options :

1.1

2.2

3.3
4.4

Question Number : 147 Question Id : 53307211728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST RaTTel T RTGATS! =16 T STeRTEIa! U 01 Hehe e el 7
(1)  YRAwIA Hifges T A .

2) AT HfEerd Heher el

3) MRl Selie FAE el

4) YRR e FHaRE HIEAHT om0 STA FEA YIRA HArgsh e S,

Options :
1.1
2.2
3.3
4.4

(
(
(

Question Number : 148 Question Id : 53307211729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&R, THOTAT=AT HHel Fag il 7

(1) 3TT9edT =0 ek 3eTesrdl @ieil Savarl.
(2) YT BT Uk Hieal Savars]

(3) sfaers wefauam=t

(4) Toeai= Uerst Sod FLoar=i

Options :

1.1

2.2

3.3

4.4

Question Number : 149 Question Id : 53307211730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR Sfaerd ga=n Y St w1 Hd anid ?
(1) g Fe= e F9RfEa Fen an.
2) W= ST WIS BT ere .
(3) THFE G- WeRR e T,
) YEgTE SfaeE o e gl ar=H-Ie "R e ST
Options :

1.1
2.2



3.3
4.4

Question Number : 150 Question Id : 53307211731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SfceTET=a1 AiEt Aielgl e T g o9 2

(1) Sreii=ar ga e 9 Hifas gifecrsa e,
(2) 3foerE e,

(3)  Scohdl, SedeR =, eI

(4) T HTATH;

Options :

1.1

2.2

3.3

4.4

Question Id : 53307211726 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

e Ufteg, el arel, e STTered e yyaet s w fore

o -9 o SFEARR ST ST AU deqa 9 o foead wam .
U i ATt o Selefuel o Wifaeh Sfeedred HeheTa Weweyul WA el T 41 96l e
T 7o IRl 2. T e SRR A1 T T T SR Fe A qeiE
3 T TG o T ORI F Wil o W, o 390e Wifeh Wl goerdl Sapeiom
FOI TR A2 e ST €. ARG Y e W S @ 3 Se
e Tt At e TGO e ST el e S, e e W Yo T
G210 e g 0 e s £ e 0 R R o R e A e o 6 s e B
T T e go et S el S g, T Seerelel, Comeheeh, Srefeeren,
ViR, AR fAHe e fe, Te SIRATeR 3feer i v e S SN
e e ST Y ST S e, e T 1 8 S e g e o
Sforer srelitf S T o 1 AT AT M RN SIS S an,

Sub questions

Question Number : 146 Question Id : 53307211727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307211728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ST AT T RIS =16 T STTeRTEa! 4T 1 Hehe T S 7
(1) YA Hifger T SFHM .

2) R Sifecr HeFer el

3) WG arele Jae e,

4) RIS T8 TGRS TN TR0 SUA FEA YA HAfgsd e S,

Options :
1.1
2.2
3.3
4.4

(
(
(

Question Number : 148 Question Id : 53307211729 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&R TGO el a9g Bl 7
(1) 3T9eHT =d ek 3{eTTedeil @ieil Savarl.

(2) YT =G Ueh Hieal Savar=]

(3) sfdery wefauar=E

(4) Toear= Terst S FogT=il
Options :

1.1
2.2



3.3
4.4

Question Number : 149 Question Id : 53307211730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR Sfaerg garEn Y STl F1 FUd And 2
(1)  SHZ=A1 Sloer= Sfaerd ALRNET e anrd.

(2) =T SAfETeETe HIEAR BT AT dnl.

(3) THFE G- WeRR e T,

(4) g iR 9 My G SreE-9IE "R e STt
Options :

1.1

2.2

3.3

4.4

Question Number : 150 Question Id : 53307211731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SfaeTET=a ISl AialgR Hen=! (A B 314 ?
(1) =i gaeon o Aifas gifecarsa deal;

(2) faerE SEFaTreTE;
(3) ScoRdl, QadeRiE, STEael;
(4) T FHTATE;

Options :

1.1

2.2

3.3

4.4





